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Topic:- CDP_P2_CTET

R Which of the following is an example of gross motor skill ?

(1) Sketching

(2) Holding a needle

(3) Walking fast

(4) Putting beads in a thread

Frefafag 5 9 SF-a1 ©e THE FIE ISR E 2

(1) e

(2) gE TRE

(3) oS T

(4)  oF ¥ Hidl o

[Question ID = 1][Question Description = S24_CDP_Q001]
1. 1 [Option ID = 1]
2. 2 [Option ID = 2]
3. 3 [Option ID = 3]
4. 4 [Option ID = 4]

2 “Proximo - distal principle of development suggests that development proceeds from :

(1) Complex to Simple
(2) Head to Toe

(3) Center to Extremes
(4) General to Specific

farehTer o1 ST " fagT dar & T faer fora @ik & frg % S5 82

(1) Sifed § &
(2) fRIW

(3) FEHa=

(4) HE= g fafire

[Question ID = 2][Question Description = S24_CDP_Q002]
1. 1 [Option ID = 5]
2. 2 [Option ID = 6]
3. 3 [Option ID = 7]
4. 4 [Option ID = 8]



" Which of the following are secondary agencies of socialisation ?

(i)  School

(i) Books

(iii) Media

(iv) Parents

(1) @) (v)

(2) @) (1), (@v)
(3) (@) (i), (v)
(4) (@) (1), (1i)

fefafed § 9 $9-9 gersies & fgdas s i § 2

(i) feeme=
(ii) fererar
(i) wifen

(iv) Hrer-foran
(1) @), @)

(2) (@), (i), (iv)
(3) (1), (iii), (iv)
(4) (1), (i), (ii)

[Question ID = 3][Question Description = S24_CDP_Q003]
1. 1 [Option ID = 9]

2. 2 [Option ID = 10]

3. 3 [Option ID = 11]

4. 4 [Option ID = 12]

4)

According to Jean Piaget s theory of Cogniﬁve development, at which stage, most children
can ‘operate on operations’ and develop hypothetico - deductive thinking ?

(1) Sensori motor

(2 1
(3) Concrete operational
(4) Formal operational

Pre operational

S s o HarTeEs faeh  fag & orER, R s § sty o= ‘glmned o B
F T ¢ AR 3T Ifeeaens Frmares |9 fasfaa € s &2

(1) el T
(2) Y4 Hispareds
(3) o EfeharaHes

4) S giearcas



[Question ID = 4][Question Description = S24_CDP_Q004]
1. 1 [Option ID = 13]
2. 2 [Option ID = 14]
3. 3 [Option ID = 15]
4. 4 [Option ID = 16]

5 : : ; :
) Jean Piaget gave importance to in the process of learning.

(I) Readiness to learn
(2) Negative reinforcement
(3) Competitive feelings
(4) Functional fixedness

S forer 3 erfnmy =Y wismen F foRd mee e 22

(1) i o forg qoaea
(2) FEHRIEF GASA
(3)  wfqEnrtt s

(4) ehETF fera

[Question ID = 5][Question Description = S24_CDP_Q005]
1. 1 [Option ID = 17]
2. 2 [Option ID = 18]
3. 3 [Option ID = 19]
4. 4 [Option ID = 20]

6)

Amarjeet considers rules as fixed and advocates that everyone should follow rules
irrespective of their personal situations. According to Lawrence kohlberg’s theory of moral
development at which stage Amarjeet is at present ?
(1) Obedience and punishment orientation
(2) Instrumental purpose orientation
(3) Good boy - Good girl orientation
(4) Law and order orientation
ST Tt i TR wrereft & @i o o1l ot argien sl & foi weft =1 2 Fororslil o1 Srgeor s
aifen, =8 39! A feafd fordt of 9or St T el iy Feaat & Sfas famg fagia &
SIHR, STHISIG 30 FHA Tohe sfaeen | 87
(1) SR 3 gve SqE
(2) Ff Sevd SEl
(3) =D AgHI-3T=S| AgH THE!
(4) A R HEE ! |
[Question ID = 6][Question Description = S24_CDP_Q006]
1. 1 [Option ID = 21]
2. 2 [Option ID = 22]

3. 3 [Option ID = 23]
4. 4 [Option ID = 24]

7)



During a group work in class, Ramesh finds his students struggling to solve a given question.
In order to scaffold them Ramesh should :

(1) Tell them to copy the answer from book

(2) Ask them to withdraw given assignment and move on next task
(3) Give cues and hints relevant to the problem

(4) Complicate the question by ambigous instructions

el H TUE A SRE, WY A 3@ o 55k fame fou 1wy o e e H S @ | ferndfa
1 WEAN 31 o T 1w =1 a1 T =0fee 2

(1) 3% TH%F § I 7% Flh forg & o a1 =1y

(2) I YT 1 hl BISHL ST A hl A ok T FHa =fay

(3) W A Heifrd Heha 4 =y

(4) o1eqe S BRI 999 Wl Sifed 91 o1 =fey

[Question ID = 7][Question Description = S24_CDP_Q007]
1. 1 [Option ID = 25]
2. 2 [Option ID = 26]
3. 3 [Option ID = 27]
4. 4 [Option ID = 28]

® To enhance students’ cognitive development, Lev Vygotsky advocated for .

(1) Social isolation

(2) Use of cultural tools
(3) Rote memorisation
(4)

4 Passive imutation

fernfeidi % Harenes fasm & Hagd & fau & ot 3§ e sEfe o sy # 82
(1)  HHITSTER GehIER Tl
(2) HiERidH ST AT WAN

(3)  herdiHIn
(4) SR S
[Question ID = 8][Question Description = S24_CDP_Q008]

1. 1 [Option ID = 29]
2. 2 [Option ID =30]
3. 3 [Option ID = 31]
4. 4 [Option ID = 32]

? Progressive education places at the centre of teaching - learning process.
(1) Students

2) Parents
3) Teachers
)

(
(
(4) Exams
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(1) fo=net
(2) @fqarEs
(3) HATIH
(4) el
[Question ID = 9][Question Description = $24_CDP_Q009]

1. 1 [Option ID = 33]
2. 2 [Option ID = 34]
3. 3 [Option ID = 35]
4. 4 [Option ID = 36]

10)

Ahmad wants to become a Psycho - therapist or Counselor. As per Howard Gardner’s
theory of multiple intelligences, his teachers should provide opportunities to enhance his

intelligence.
(1) Spatial
(2) Naturalistic
(3) Musical
(4) Interpersonal

3TEAE HARTENS A1 TUHYE (FRYeR) S JRdl © | gEE M % agay dafg fagra &
STTER 3! ST I S9! fhd 9fg &% o897 & o= & =ifeu?

(1) =t

(2) 9rHfah

(3)  HiflreHes

(4) FaEATES
[Question ID = 10][Question Description = S24_CDP_Q010]
1. 1 [Option ID = 37]

2. 2 [Option ID = 38]
3. 3 [Option ID = 39]
4. 4 [Option ID = 40]

" While practising cooperative learning, a teacher should

(1) make same ability based groups

(2) instruct students to follow only prescribed procedure
(3)

(4)

restrict use of discussions and debates
make groups of diverse learners



HEATH AU o1 SRFeET 6ild T ST19% &1 1 F =10 ?
(1) Uk 9HE Ao sTuitd el &1 e

(2) fornféEi =81 e fuffa ufsman =1 ergero &3 =1 fdw &)
(3) =Eisll iR ae-faare % v w1 ufvefaa e

(4) Tafaw faenfeli o w9 o

[Question ID = 11][Question Description = S24_CDP_Q011]
1. 1 [Option ID = 41]
2. 2 [Option ID = 42]
3. 3 [Option ID = 43]
4. 4 [Option ID = 44]

12)

In a classroom discussion on cricket, a teacher is giving more chances to boys than girls.
By doing so he is 4

(1) Combating stereotype threat
(2) Practising gender bias

(3) Ensuring gender equality

(4) Breaking gender stereotypes

Fe Y fobthe W & W 99 § Us A SRl il UL Al o 2fHe el T W@l §)
T ¥ 98 1 FL @ 8?2

(1) fgeg Tl 1 %0 % @ e
(2) SIS YA 1 g R R
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(4) S Figag gromdl F1 e w1 E |

[Question ID = 12][Question Description = S24_CDP_Q012]
1. 1 [Option ID = 45]
2. 2 [Option ID = 46]
3. 3 [Option ID = 47]
4. 4 [Option ID = 48]

13 "
 An a class of diverse learners, a teacher should :

(1)  Group students based on their performance in exams

—_—
L3

Divide students based on their socio - economic context

(
(

)
) Set and maintain expectations of success from all
)
)

=

Practise standardised curriculum and method of assessment



fafae gpyfa § e fenfefai ot smen & s o i we =iy ?
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[Question ID = 13][Question Description = S24_CDP_Q013]
1. 1 [Option ID = 49]
2. 2 [Option ID = 50]
3. 3 [Option ID = 51]
4. 4 [Option ID = 52]

14) ; ;
Formative assessment is done :

(1) only at the beginning of the session
(2) throughout the session for all students

)
(3) at the end of the session only
(4)

35

only for students facing learning challenges

AT SeReT el TR ST 2 2

(1) Fdd T3 6 ARG H |
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(3) FaT HA h 3 H

(4) e 34 faenfeE & fau s stferm feli S s w €

[Question ID = 14][Question Description = S24_CDP_Q014]
1. 1 [Option ID = 53]
2. 2 [Option ID = 54]
3. 3 [Option ID = 55]
4. 4 [Option ID = 56]

") Which of the following question will promote critical thinking among students ?

(1) What is the Capital of Sri Lanka ?

(2)  When is teacher day celebrated in India ?

(3) . Which is the largest city in Asia ?

(4) How would you resolve water crisis in your city ?

Frefated | | se-|1 799 faenfei § gae=meTes o s 99-=1d &en ?
(1)  iciert &1 Tear HA-d 872

(2) 9Rd H searTes feas e g S 7 7

(3) UfeEn H Ted e el AT E 2

(4) ST A0 Vg H UHT HN HHI FT THEA TR WHR TR 2

[Question ID = 15][Question Description = S24_CDP_Q015]
1. 1 [Option ID = 57]
2. 2 [Option ID = 58]



3. 3 [Option ID = 59]
4. 4 [Option ID = 60]

Concept of inclusion requires :
(1) Respect of diversity and individual differences

(2) Standardised testing for assessment
(3) Teacher - centered Pedagogy
(4) Labelling and segregation of students

FUEYF 1 SEERON & FREeRl sTavashar &2
(1) fafaeen iR Safes fumme & fag g
(2) eher % AU AR THEo |
(3) AT foeromere wafEt)
(4) fo=nfei @ Al (oEfe) i gurehie |
1[Q1tjc[ecs;titgn IB =611 ?][Question Description = $24_CDP_Q016]
2. 2 [Option ID - €2]

3. 3 [Option ID = 63]
4. 4 [Option ID = 64]

") ‘Dyslexia’ poses direct challenges in the domain of :
(1) emotional regulation
(2) body coordination
(3) social interactions
(4) comprehension of written text

TeTased TR & H gorel ®9 § A TEgd A 8 ?
(1) W e §
(2) iR geEEE o
(3) @ISR sfafswansdi |
(4) Teifad favgersy o =i
1[Q1u<[egtitgn |I|; =615]7][Question Description = $24_CDP_Q017]
2. 2 [Option ID = 66]

3. 3 [Option ID = 67]
4. 4 [Option ID = 68]

18)



While students with Autism faces several challenges in certain domains, they have strength
which can be utilised by the teacher in teaching - learning process.

(1) to pay attention for minute details

(2) for social communication

(3) of expressing themselves without hesitation in front of large groups
(4) of easily adjusting to frequent changes in schedule

et (enfes) | v farenf ereiife $o & A fafu= gRfadl 1 armm & €, ofsd 39 98
1 HeEd v o ¥, s fome semra faemr-aafiem wfsman 5 T 5@ €1

(1) ¥& faeeol o &1 <
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(4) EHfeT H Siedt-Sieat 9REd o Ui SRerTgEs e

[Question ID = 18][Question Description = S24_CDP_Q018]

1. 1 [Option ID = 69]

2. 2 [Option ID = 70]

3. 3 [Option ID = 71]

4. 4 [Option ID = 72]

19)
Which of the following mode should be avoided while teaching students with visual
impairment ?
(1) wverbally explaining the content written on board
(2) providing tactile maps
(3) allowing use of assistive devices
(4) wusing written tests to assess learning

=fw s 9 e fomfiE o iy fem st gea foy fafy Ay o g@m 8 s=a =iey ?
(1) w9z R foifiEs fauasg i difgs &9 | saren &
(2) TR HEREE <A
) HRES SUHLUN b YN Hl SAT &A1
(4) HETH % SApEd & fay fafad sdgm o
1[Q1u<[e;tic_m |Ig =713 ;)][Question Description = $24_CDP_Q019]
2. 2 [Option ID = 74]

3. 3 [Option ID = 75]
4. 4 [Option ID = 76]



20 . - - . - L] ¢ s s,
" Which of the following is not a characteristic of students with “giftedness’ ?

(1) above - average intelligence level

(2)  higher order problem-solving skills
(3) high motivation to master skills
(4)

4) slow in processing information

freifefad 5 9 F-df fadra wfareme et =1 =& 82
(1) ofga & sifus gfg @
(2) = ST TH HHYE Hi9 |
(3) =hrErEl T 9 S o T 3= Wl Sfagon |
(4) TR =T TE0T KT H O |

1[Q1tjc[ecs;titgn IB =727(])][Question Description = S24_CDP_Q020]

2. 2 [Option ID = 78]

3. 3 [Option ID = 79]
4. 4 [Option ID = 80]

21)
A teacher should motivate students to form view of ability and should consider
learning as process.

(1) incremental, an active

(2) entity, a passive

(3) incremental, a passive
)

(4) entity, an active

U e & faanfll = A & afgey o sAfermy =i yfshan
oA & fau dreafed & =fen |

(1) SfaHs, UF diha

(2) wifaa sius, T e
(3) gfigaiues, wE fifsra

(4) sIfETe =Y, T Wik

[Question ID = 21][Question Description = S24_CDP_Q021]
1. 1 [Option ID = 81]
2. 2 [Option ID = 82]
3. 3 [Option ID = 83]
4. 4 [Option ID = 84]

2 Students are likely to experience when the activity is not valued by them.
(1) Curiosity

(2) Excitement
(3) Joy
(4)

4 Boredom
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(1) Te=mn
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[Question ID = 22][Question Description = S24_CDP_Q022]
1. 1 [Option ID = 85]
2. 2 [Option ID = 86]
3. 3 [Option ID = 87]
4. 4 [Option ID = 88]

23)

Richa, a school teacher wants to promote conceptual understanding among her students.
To do so, she should :

(1) ask students to solve questions in prescribed manner only.
) focus on procedural knowledge and metacognitive skills.
(3) emphasise on rote memorisation of content.

)

discourage students to establish connections between sub—concepts.

el seAfien T arqa farnfelai & sraumoneTsh SHe 1 9y=1d e =ed &1 79% fog 39 #0
AT =g ?

(1) fernfei =1 wei =1 gamemE fEifta 9 9 w39 % fau #e =fen )

(2) wfshaeas 99 3R 2 SAETS SRTE WA S =ife

(3) Towaasg o e TR W 9d o1 difen

(4) fernfeli o sq-sraamonedi & wregar wiftd o % fau freafed s =fa)

[Question ID = 23][Question Description = S24_CDP_Q023]
1. 1 [Option ID = 89]
2. 2 [Option ID = 90]
3. 3 [Option ID = 91]
4. 4 [Option ID = 92]

24 ) i , . : 5
! Which of the following characterizes a socio- constructivist classroom ?

(1)  Teacher inculcating competition-oriented attitude among students
(2)  An environment conducive for discovery learning
(3) Pedagogy geared to focus on rote memorisation

)
(4) Curriculum which is standardised and does not consider cultural differences



frerfafad § 9 SF-d gl e wa e &2
(1) =9 g faenfer o gfaaifi S=pEi gfosmm 1 faswm %
(2) o Herl sifary foru srgepfed afE
(3) “hordie T hfgq faaroremeta ufafuat
(4) HERIFHA TeT=A S Hikhfae =Tl 1 e T @
1[Q1t1<[ecs)titgn |||; =923;1][Question Description = $24_CDP_Q024]
2. 2 [Option ID = 94]

3. 3 [Option ID = 95]
4. 4 [Option ID = 96]

25)

Students feel more involved and engaged in the process of learning if classroom
environment promotes :

()  Enquiry about the concept

(i) Reflection on their thoughts

(iii) Passive imitation of the teacher
(iv) Mere reproduction of knowledge
M () )

(2) @) (i)

(3) (i) (i)

(4) (i) (iv)

Teramelt =rent | stferms =it wfekan | siferes WiRT i Fevrl o1 Heqy %3 €| Afe e 1 uie
T T ©

(i) oraummsii % R H fSmm

(i) @ foeml = fame-fea

(iii) e¥eager <l ffesng sTgem

(iv) T &1 T TRSEA
(1) @), (i)
(2) (@), (i)
(3) (i1), (iii)

(4) (i), (iv)

1[Q1u<[eg;itci>or:1 |I|; =927']5][Question Description = $24_CDP_Q025]
2. 2 [option ID = 98]

3. 3 [Option ID = 99]
4. 4 [Option ID = 100]



26 s ; A 3 g =
) To facilitate students’ learning, a teacher should conduct activities which are :

(1) relevant to their everyday life

(2) mechanical and require passive listening
(3) decontextualised
(4) presented in progressive sequence from complex to simple

fernfeiali & aiferma =1 Ges—gom =AM 3 fera syearaes =Rt fong wenr o wifafafesl = Hemer e
g ?

(1) =0 37 Widfe o sia o fog g 2|

(2) = =it & oI o fAfsra gao e @

(3) it Hed H ge B |

(4) S Sifee | WA F SR ST 9gd g h9 H JEd & |

[Question ID = 26][Question Description = S24_CDP_Q026]
1. 1 [Option ID = 101]
2. 2 [Option ID = 102]
3. 3 [Option ID = 103]
4. 4 [Option ID = 104]

27)

Development of critical thinking in students can be facilitated by emphasising on

(1) application of learning in varied contexts.

(2) competition to finish the task at earliest rather than understanding it.
(3) mere summarisation of notes given by the teacher.

(4) rote memorisation of content and passive imitation of teacher.

farenfeli & wmreiremeTs fowm ot o o worR west g fmen 1 g 72
(1) fafay Seui 9 S % sty g/
(2) A h T W T o e 2 ¥ite 90 i % fer wfafia e
(3) =AY BN ST T SN i FHeel WSl Flh

(4) faomesg = Ferdiet o) seas 1 iR S &k
1[Q1L1¢[e;titgn |||; =1Z]][Question Description = $24_CDP_Q027]
2. 2 [Option ID = 106]

3. 3 [Option ID = 107]
4. 4 [Option ID = 108]

28) Pace of learning is :

(1) dependent solely on personal factors.

(2) dependent solely on environmental factors.
(3) independent of both personsal and environmental factors.
(4) dependent on interaction of personal and environmental factors.
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[Question ID = 28][Question Description = S24_CDP_Q028]
1. 1 [Option ID = 109]
2. 2 [Option ID = 110]
3. 3 [Option ID = 111]
4. 4 [Option ID = 112]

») Alternative conceptions of students ;

(1) should be discouraged by ignoring them

(2) are not related to thier experiences

(3) are always extremely erroneous and represents irrational thinking process

(4) illustrates their ‘naive’ theories constructed in the process of meaning-making
ferenfofii =1 Srepfeqes sraymromd 1

(1) @I oFeEl Hi Frefed &1 S =g
(2) STk STVEl 9 Hefd 76 ©
(3) THIN FAd o el & SiK aehed feae ufshan 1 gwid @
(4) o Fwior =) wfsranedi # 7@ € ew deamel @ gl §
1[Q1L1<[e;tit<?n |I|; =121‘;]][Question Description = S24_CDP_Q029]
2. 2 [Option ID = 114]

3. 3 [Option ID = 115]
4. 4 [Option ID = 116]

30 ; p .. W, :
) While teaching a concept, it is important to avoid :

(1) making connections among different aspects of the concept.

(2)  highlighting cause-effect relations.

(3)  giving non-exemplars related to concept.

(4)  presenting the content of concept disconnected chunks of information.

ToRdt ot staremon =1 foreror e w9 forg = 9 =1 TR 82

(1) SFaErms o fafs= qggsil & Hey Fraga g 3|

(2) THREH-UNE HaHi i FEifeha A |

(3) SAFEREA %1 TR SN o Y WA HLA |
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[Question ID = 30][Question Description = S24_CDP_Q030]
1. 1 [Option ID = 117]



2. 2 [Option ID = 118]
3. 3 [Option ID = 119]
4. 4 [Option ID = 120]

Topic:- SS_P2_CTET

1)

Consider the following Assertion (A) and Reasoning (R) and choose the correct option.
Assertion (A) : "Hunters and gatherers, moved from place to place’.

Reasoning (R) : ‘Depletion of plant and animal resources in an area is possible’.

Choose the correct option.

(1) Both (A) and (R) are true and (R) explains (A).

(2) Both (A) and (R) are true but (R) does not explain (A).

(3) (A)is true but (R) is false.

(4) Both (A) and (R) are false.

frfafad sl e (A) S T (R) W fa=m &1 :

T (A) :  SETH-EET HURF TSI & AN Teh S8 W T S8 W IH T 9
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et foed =7 |

(1)  (A) 3R (R) 2 |8t € 3 (A) 1 (R) He&l =41 3 & |

(2) (A) R (R) S ¥& € AR (A) 1 (R) F&l =are 78 S ¢ |

(3) (A) W T &feh (R) TTerd B

(4)  (A) 3R (R) S Terd €1

[Question ID = 91][Question Description = S24_Social Science_Q031]
1. 1 [Option ID = 361]
2. 2 [Option ID = 362]
3. 3 [Option ID = 363]
4. 4 [Option ID = 364]

2)
i - . -
Widows, young women who are differently abled, nuns, mothers of courtesans, retired women
servants of the king, women who have retired from service in temples, may be used for processing

wool, bark, cotton, hemp and flax”. This guideline on spinning and weaving workshops is described
in which of the following texts ?

(1) Mudrarakshas

(2) Rajtarangini

(3) Arthasastra

(4) Brihat Kathamanjari
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(2)  TTRTOR
(3) sdfwrE

(4) IEamUES

[Question ID = 92][Question Description = S24_Social Science_Q032]
1. 1 [Option ID = 365]
2. 2 [Option ID = 366]
3. 3 [Option ID = 367]
4. 4 [Option ID = 368]
3)
Consider the following statements and choose the correct option.

Statement I: 7% century onwards rulers often tried to demonstrate their power and resources
by building large temples.

Statement II : During 10th and 11th century when rulers attacked one another’s kingdoms, they
chose to target temples.

Option :

(1) Statement Iis false but II is true

(2) Both statement I and II are true but I is not correct explanation for IL
(3) Statement Iis true but II is false

(4)

Both statement I and II are true and I is correct explanation for 11

Frefafad o] W faar #1 R & famey &1 =999 #|
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[Question ID = 93][Question Description = S24_Social Science_Q033]
1. 1 [Option ID = 369]
2. 2 [Option ID = 370]
3. 3 [Option ID = 371]
4. 4 [Option ID = 372]



4} The architectural style of intersecting arches in high ceiling roof is common between :
(1) Govind Deva temple in Vrindavan and Fatehpur Sikri palaces.
(2) Bangla Dome temples and JodhaBai palace.
(3) Palaces of Vijayanagara and Shahjahanabad.
(4) Qutb Minar and Rajarajeshwara temple.

S offedt Ba ¥ wioesd) devEl arel aregeen # 9g dell % 9 THE
(1) demEd = Tifdega Hiet iR waeg Wl % vea

(2) @ien fag Higl iR SuEE & g8

(3) TosaR iR vresEHEE W e

(4) FHgaHER i et Hiew

[Question ID = 94][Question Description = S24_Social Science_Q034]
1. 1 [Option ID = 373]
2. 2 [Option ID = 374]
3. 3 [Option ID = 375]
4. 4 [Option ID = 376]

5)
By the seventh century, the following political developments emerged in the Indian subcontinent :
(A) Big landlords and warrior chiefs could become kings.

(B) Brahmanas gave up their traditional professions and took up arms.
Choose the correct option.
(1)  Only (A) is correct

(2) Only (B) is correct

(3) Both (A) and (B) are correct

(4) Both (A) and (B) are incorrect

el |t o 03T, YRA SU9eTgd § fefafad Tseitas aeore i § o 9% o)
(A) &2 el SR ATGT-FIER TS &7 Hehdl 4 |

(B) SRR 7 3797 YLUATG Y31 I BISHT 6 321 fer |

Tl fashed = =49 |

(1) % (A) T8l )

(2)  Hael (B) TEl

(3) (A) 3R (B) Sl HE &

(4) (A) 3R (B) 31 W&l & €

1[Q:J<[e;titgn |I|; =3973]][Question Description = $24_Social Science_Q035]

2. 2 [Option ID = 378]

3. 3 [Option ID = 379]
4. 4 [Option ID = 380]

6)



Consider the following statements on 18th century India and choose the correct option.

Statement (A) : Crafts and commerce underwent major changes as merchants and artisans were
moved to “black towns’ by the European companies in the 18" century.

Statement (B) :The ‘black’ referred to native traders and craft persons, who lived in places like
Fort St. George and Fort St. William.

Options :

(1)  (A)is true, (B) is false.

(2) (A) and (B) are both true and (B) is a correct elaboration of (A).

(3) (A) is false, (B) is true.

(4) (A) and (B) are both true, but (B) is not a correct elaboration of (A).

18 < el vRE o Hed # frfafed syl w faur i v wd fashew 1 =7  #1

HYT (A) : SRedl vt § fren oij aiftey o 9292 ufteds a, s@ e ot R gl
FHafEi g Lenfug *seteh 2R " H TeiEitE 81 T

WU (B) : ‘=oieh’ S STl SR freusl i el 1 S B He Sitel afe wid de faferam S SR
WD 9|

faesea -

(1) (A) T & (B) To@ &

(2) (A) 3R (B) 91 Wl T a1 (B), (A) Ft T2 gia €

(3) (A) T ¥, (B) BEt

(4) (A) & (B) ST wel € 9 (B), (A) I T Fid & @

[Question ID = 96][Question Description = S24_Social Science_Q036]

1. 1 [Option ID = 381]

2. 2 [Option ID = 382]

3. 3 [Option ID = 383]

4. 4 [Option ID = 384]

7)
In the context of Permanent settlement of Colonial India, which of the following statements is
correct ?

(A) In 1793, Thomas Munro introduced the Permanent Settlement in Bengal.

(B) Under Permanent settlement, the rajas and taluqdars were recognized as Zamindars.
(C) Zamindars were given the rights to collect rent from the peasants.

Options :

(1) (A), (B) and ()

(2) Only (A) and (B)

(3 Only (B) and (C)

(4) Only (A) and (C)



STrfafiTes RA o T daee & He o, Frefataa § | #F | Fye w8 8 7
(A) 1793 H o7 T30 4 96 Wid H w4 seas i Yo @i |

(B) 3Heh ded TSl i drefsharl ®1 SR o &9 § |r=al & 8 |

(C) IR @l fREM § &F o w1 sAfuamr o @)

(1) (A), (B) &R (C)

() e (A) 4 (B)

(3) T (B) ¥R (O)

(4) a4 (A) 3R ()

[Question ID = 97][Question Description = S24_Social Science_Q037]
1. 1 [Option ID = 385]
2. 2 [Option ID = 386]
3. 3 [Option ID = 387]
4. 4 [Option ID = 388]
8)
Which of the following is/are true about William Adam ?
(i) William Adam was a Scottish Missionary.
(i) He was a British administrator.
(i) He had been asked by the company to report on the progress of education in vernacular
schools.
(iv) He toured the districts of Bengal and Bihar to report on vernacular schools.
Choose the correct option :

(1) Only (i) and (iii)

(2) Only (ii) and (iii)
(3) Only (i), (ii) and (iii)
(4 Only (i), (i) and (iv)

faferay weg F o § Frefafaa H @ a9 wa adt &/ €2

(i) Tefeem Ten & whifed y=meE 91

(i) o€ Ush S e o)

(iii) AT A e <¥ When H o i i W RO AR e o e i an
(iv) 38 s #iR fer % ot w S <o =pe W e 79m & fas foam)
Wt faswey = =99 i |

(1) e (i) AR (i)

(2) e (if) AR (iii)

(3) e (i), (i) A (i)

(4) FEe (i), (i) 3R (iv)

[Question ID = 98][Question Description = S24_Social Science_Q038]
1. 1 [Option ID = 389]



2. 2 [Option ID = 390]
3. 3 [Option ID = 391]
4. 4 [Option ID = 392]

) Match the Column (A) with Column (B) :

Column (A) Column (B)
(a) Raja Ram Mohan Roy (i) Widow’s Home
(b) Swami Dayanand Saraswati (i)  Setup schools for girls
(c) Pandita Ramabai (iii) Arya Samaj
(d) Ishwarchand Vidyasagar (iv) Brahmo Sabha
Choose the correct answer.
1) (@) - @) b)- (i) () - (i), (d) - ()
(2)  (a) - (i), (b) - (i), (c) - (v), (d) - (i)
(3) (@) - (i), (b) - (i), (c) - (i), (d) - (i)
@) (a) - (i), (b) - (@), (¢) - (v), (d) - (1)
i (A) 1 i (B) & WY fHam &
HiW (A) HicTd (B)
(a) TSIH HigA T @ favarTe
(b) T €FHg wEEdl () esfHE % e wEhe san
(c) dfed wEE (i) SR HAS
(d) svavEs foemErR (iv) SEH a

() » . )
(3) (a)- (), (b) - (iii), () - (@), (d) - (ii)
(4) (a) - i :
[Question ID = 99][Question Description = S24_Social Science_Q039]
1. 1 [Option ID = 393]
2. 2 [Option ID = 394]
3. 3 [Option ID = 395]
4. 4 [Option ID = 396]
10)
The strategy adopted by Ishwarchandra Vidyasagar to challenge a social evil was the following :
(A) referring to western ideas
(B) looking for supportive superstitions
(C) finding a verse or sentence in ancient texts.
Choose the correct option.
(1) Only (B)
(2) Only ()
(3) (A)and (B)
(4) (A)and (C)



ot oft SrIfSeR JE 1 ATl o o o SveEs fammEmR gR ST e WA e weR | ot
(A) ufeed fa=mi 1 gamen &

(B) EHEH < SIel SrHfavard =l GisHl

(C) 9TEH Heli | veith =1 arerdi i g

el Tasheg & == &1 |
(1) %o (B)
(2) FA (A)

(3) (A) ¥R (B)
@) (A)#F(Q)
[Question ID = 100][Question Description = S24_Social Science_Q040]
1. 1 [Option ID = 397]
2. 2 [Option ID = 398]
3. 3 [Option ID = 399]
4. 4 [Option ID = 400]
11)

Which of the following movements/agitations was/were the part of Gandhi’s Non - Cooperation
movement ?

(i) Patidar peasants movement in Kheda, Gujarat

(i) Akali agitation in Punjab against corrupt mahants

(iii) Salt - Satyagraha in Gujarat

(iv) Forest - Satytagraha by tribals and poor peasants of Guntur district of Andhra Pradesh
Choose the correct answer.

(1) Only (i) and (ii) are correct
(2) Only (i) and (iii) are correct
(3) Only (1), (ii) and (iil) are correct
(4) Only (1), (i1 ) and (iv) are correct

Freafafes § & =0 § sr<em T} st % srEan s<er & feem g 2
(i) @, TS @ TERR fREE ke

(i) TS ¥ SHER Hewl % (EeTh ST SR

(iii) TSN H THE HAE

(iv) ST Jeu ® Tex fsten & e foram i swenfadi g ' oe weme’
foetferfiaa o & W@ 3 =1 94

(1) ad (i) T (i) T&T &

(2) e (i) T (i) W B

(3) e (i), (i) U (iii) el §

(4)  Fad (i), (i) T (iv) T T

[Question ID = 101][Question Description = S24_Social Science_Q041]



1. 1 [Option ID = 401]
2. 2 [Option ID = 402]
3. 3 [Option ID = 403]
4. 4 [Option ID = 404]

12)

The ‘Swadeshi Movement’ after the division of Bengal in 1905, was also known as "Vandemataram
Movement’ in which part of India ?

(1) Bengal
(2) Andhra
(3) Assam
(4) Punjab

1905 % =TE AT % 15 & Qe =i’ %1 IRd & 69 &3 8 ‘a< A e<ied & 9M § S
T ?

(1) =7
(2) 37y

(3) 9™
(4) o=

[Question ID = 102][Question Description = S24_Social Science_Q042]
1. 1 [Option ID = 405]
2. 2 [Option ID = 406]
3. 3 [Option ID = 407]
4. 4 [Option ID = 408]
13)
Consider the following statements and choose the correct option.

(A) 1In 1950 the Indian government set up a planning commission to help design and execute
suitable policies for economic development.

(B) In 1956, the Second five year plan was formulated which strongly focused on agriculture
and put emphasis on consumer goods industries.

Options :

(1) Both (A) and (B) are true.
(2) Both (A) and (B) are false.
(3)  (A) is true but (B) is false.
(4)  (B) is true but (A) is false.



Frafafad oAl W foar & &t T2 fawes &1 =9 =1

(A) 1950 H v WK 3 Afeia famme & feau ifaal s o 37 @r] %39 % fon us ‘s smam
EARICERET I

(B) 1956 H THI duawd AT oA i ¢ T i o SuseTen a%g SEr W W SR e T

faerea :

(1) (A)@en (B) g1 5el €1
(2) (A) @1 (B) &I T §
(3) (A)%el & fereq (B) Terel B |
(4) (B) W&l € fohg (A) e T

[Question ID = 103][Question Description = S24_Social Science_Q043]
1. 1 [Option ID = 409]
2. 2 [Option ID = 410]
3. 3 [Option ID = 411]
4. 4 [Option ID = 412]

) Which of the following statements on Jyotirao Phule are correct ?
(A) Phule studied in Christian missionary schools.
(B) He countered Brahman's claims of superiority.
(C) He said that Aryans were foreigners.
(D) He was critical of anti - colonial nationalism of his times.
(E) He dedicated his book Gulamgiri to anti - apartheid struggle of South Africa.
Choose the correct option.

(1) (4), (B), () and (D)
(@ (B), (O, (D) and (B)
(3 (4) (O, (D) and (E)
(9 (A), (B), (C) and (F)

Frefafe § 9 sHifaue B W Hid 9 FF TS 8 2

(A) Fel A 39 oY Shell | ugE i o

(B) I SR & 93 B o QA U GeH S fRAT A1)

(C) =2M el ok o fadelt &)

(D) o 3794 §HY & Sufargame-fodi e & s 91

(B) 3B ST91 foparel ‘ et | Sfarm-s1enrert o d1ig forie werd =1 wfta foman |
W& Tahey &1 =97 Hiag

(1) (A), (B), (C) 3R (D)

(2) (B), (O), (D) ¥R (E)
(3) (A), (C), (D) 3R (E)
(4)  (A), (B), (C) 3R (E)

[Question ID = 104][Question Description = S24_Social Science_Q044]



1. 1 [Option ID = 413]
2. 2 [Option ID = 414]
3. 3 [Option ID = 415]
4. 4 [Option ID = 416]

15)
To depict planet sizes correctly in a role play on the solar system a teacher selects two students of
the same height and weight. Which of the following two planets could they be enacting ?

(1) Mercury - Venus
(2) Saturn - Earth
(3) Earth - Moon

(4) Earth - Mars

T ‘U @ (e%F) § O9R Hed F TR FI Tel AR H g2 % o, we foes | ueH e R a9 &
BE T E Freefar d A s S i m I s gRd € 2

() 99-3
(2) wf - geslt
(3) gl - =g
(4) 9= - "

[Question ID = 105][Question Description = S24_Social Science_Q045]

1. 1 [Option ID = 417]

2. 2 [Option ID = 418]

3. 3 [Option ID = 419]

4. 4 [Option ID = 420]

16)
Consider the following statements about international date line and choose the correct option.
(A) International date line is an imaginary line.
(B) International date line passes through Pacific Ocean.
Options :
(1) Only (A) is correct

(2) Only (B) is correct
(3) Both (A) and (B) are correct
(4) Both (A) and (B) are incorrect

e fafy v & 9 9 fafafad seE 7 f@9R Sifee a9 9@ fawey = 999 Fifa
(A) eF=RiE fafy v w Feufes @ g

(B) et fafe T werlq werErR | g Yo B

faerca :

(1) e (A) T )

(2) 9 (B) ﬂﬁ%‘“l

(3) =M (A) e (B) W )

(4) ‘q’rﬂ‘r(A)Hm(B)wa%'I



[Question ID = 106][Question Description = S24_Social Science_Q046]
1. 1 [Option ID = 421]
2. 2 [Option ID = 422]
3. 3 [Option ID = 423]
4. 4 [Option ID = 424]

7) 1f it is 10:00 am at 60° West longitude, what will be the time at Greenwich ?

(1) 2:00 am
(2) 2:00 pm
(3) 6:00 am
(4) 6:00 pm

Tfe 60° TY=T SR T 10 : 00 Ta&A &, af Hf=E W 0 997 2 2

(1) 2:00 gargd
(2) 2:00 SYUEH
(3) 6 : 00 gaiEA
(4)  6:00 39EA

[Question ID = 107][Question Description = S24_Social Science_Q047]
1. 1 [Option ID = 425]
2. 2 [Option ID = 426]
3. 3 [Option ID = 427]
4. 4 [Option ID = 428]

'8) If you are at 0° latitude, you would be standing on the

(1) Equator

(2) North pole
(3) Tropic of capricon
(4) Antartic circle
3T 39 (° F&T9 W g d ™ &S B |
(1) T
(2) 390 A
(3)  HERY @I
(4)  SfET AT

[Question ID = 108][Question Description = S24_Social Science_Q048]
1. 1 [Option ID = 429]
2. 2 [Option ID = 430]
3. 3 [Option ID = 431]
4. 4 [Option ID = 432]

19)



There are four domains of the natural environment. Two are Atmosphere and Biosphere. The
other two are :

(1) Hydrosphere and Mesosphere

(2) Hydrosphere and Lithosphere
(3) Lithosphere and Mesosphere
(4) Lithosphere and Stratosphere

yrFfie qafeTe & 9R &9 F1 3 § § aguEa o Sigded 2 | afw 91§
)  SeHEE AR gEHS

)  AeHEA AR WAHSH

) TUEmEd it g

) TeHed 3N gHAIHEH

3

(
(2
(
(4

[Question ID = 109][Question Description = S24_Social Science_Q049]
1. 1 [Option ID = 433]
2. 2 [Option ID = 434]
3. 3 [Option ID = 435]
4. 4 [Option ID = 436]

200 Which of the following is true about Tropical Rain forest ?
(A) These forests are called evergreen forests.
(B) The trees in these forests shed their leaves at different times of the year.
(C) Sal, Teak and Shisham are important trees of these forests.
(D) These forests are called monsoon forests.

Choose the correct op_ﬁon.
(1) (A) and (B)

(2 (A)and (©)
(3) (B) and (D)
(4 (Qand (D)

Frefafes § § wF 3o wfestdis avi 99 % a) § 9 27

(A) TR HEEER 97 HEl A g

(B) Al H ga o F Ter-oTer WA H o7 et v €
(C) = 9 H Iy S ATl HewrqUl g&1 Hiel, | SR 3iem g
(D) 34 &4 %1 AFET 59 off Fed €1

et ferme 1 =5 |
(1) (A) 3 (B)
(2) (A) 3R ()
(3 (B) W (D)
(4 (O) #R (D)



[Question ID = 110][Question Description = S24_Social Science_Q050]
1. 1 [Option ID = 437]
2. 2 [Option ID = 438]
3. 3 [Option ID = 439]
4. 4 [Option ID = 440]

2) Which of the following is/are true about Amazon basin ?
(A) The river Nile flows through this region.
(B) Both days and nights are almost equally hot and humid here.
(C) At night the temperature goes down but the humidity remains high.
Choose the correct option.
(1) Only (B) is true
(2) Only (C) is true
(3) (A) and (B) are true
(4) (B) and (C) are true

A A F I H = § G P WA v € 2

(A) e 76 75 e § e aEdt B

(B) el %1 Hrem o UE Ua a1 H & w9 w0 H T e A fen 2
(C) Td % T9T AU eTel T B Sar & olfehs SATaar o9t & a1 Wl ¢

W faeney =1 gAE Fifse |
(1) *ad (B) T&l &1

(2) ad (C) T B

(3) (A) T (B) Het ¥

(4) (B) 7 (C) T& €1

[Question ID = 111][Question Description = S24_Social Science_Q051]
1. 1 [Option ID = 441]
2. 2 [Option ID = 442]
3. 3 [Option ID = 443]
4. 4 [Option ID = 444]
22)
Which of the following is/are factors that cause variation in amount of insolation on earth ?
(A) the rotation of the earth on its axis.
(B) the angle of inclination of the Sun’s rays.
(C) the length of the day.
Choose the correct option.
(1) Only (A)is true
(2) Only (A) and (B) are true
(3) Only (A) and (C) are true
(4) (A), (B) and (C) are all true



et W e i A § fiueran e, efatea § 9 = enm § 2

(A) Yt = 3 A WA

(B) ¥ = feroll =1 Afa s

(C) f& =l sty

Wl fasey =1 gaE Sifee |

(1) e (A) T €

(2) A (A) q91 (B) E £

(3) FEA (A) T (C) TE F)

(4)  (A), (B) 7N (C) Beft T ¥
1[Q:J<[egtic_>n |I|; =414 ; ]2][Question Description = S24_Social Science_Q052]
2. 2 [Option ID = 446]

3. 3 [Option ID = 447]
4. 4 [Option ID = 448]

23)

Consider the following statements about air pressure and choose the appropriate option.

(A) Air above us presses us with a great force on our bodies, however we don't even feel it.
(B) Air presses us from all directions and our body exerts a counter pressure.

Options :

(1) Both (A) and (B) are true and (B) is the correct explanation of (A)

(2) Both (A) and (B) are true and (B) is not the correct explanation of (A)

(3) Both (A) and (B) are false

(4) (A)is true but (B) is false

a1 36 & aR H TG0 T YAl il ufgu 991 ST [aehed 1 gAd it |

(A) BT THN IR T I @ F W I AT ¢ (o S THHT AWE el L T |
(B) oY o1 <& BN ST Wit feenedi | oran ¥, &t wAr vRR favdia @ @ €
faerea

(1)  (A) @1 (B) SF1 §el €, T (B) W&l =411 € (A) I

(2)  (A) T (B) TFI WE €, fohg (B) T = 7E € (A)

(3)  (A)@T(B) <F 7o &

(4) (A) W&l € foFg (B) o B

1[Q:J<[e;ti9n |I|; =414 ; ]3][Question Description = S24_Social Science_Q053]

2. 2 [Option ID = 450]

3. 3 [Option ID = 451]
4. 4 [Option ID = 452]

24)



Consider the following statements.

(A) Rockisanaggregate of one or more minerals with definite composition of constituent minerals,
(B) Minerals are created by natural process without any human interference.

Choose the correct option.

(1) Both (A) and (B) are true

(2) Both (A) and (B) are false

(3) (A)is true but (B) is false

(4) (A) is false, (B) is true

Trefafad sy w fo=m #i
(A) a1 wfrs stgadl % ffvea o o o 21 s § sfys Tisil w1 U 99ed §
(B) il for ferelt wreit waai &, Wihfer wisranadl Ry ffd 2 €

el oy = 999 & |
(1) (A) 3R (B) S |&l ¥ |
(2) (A) 2R (B) 21 e 21

(A)
(3) (A) | T @fe (B) Terd € |
(4) (A)7TEd € wifsd (B) Wl B

[Question ID = 114][Question Description = S24_Social Science_Q054]
1. 1 [Option ID = 453]
2. 2 [Option ID = 454]
3. 3 [Option ID = 455]
4. 4 [Option ID = 456]
25 Fill in the blank with the correct option.
The Prairies are
(1) home to cheetahs.
(2) suitable places for Cattle rearing.
(3) very hot during daytime and very cold at night.

(4) cold deserts.

TR T2 ol W& ooy § Wi |

Yot & |

(1) =iidi =1 =

(2) wALH g F fag SugE SE |

(3) fe & @9 5igd T 3R 9 & THA 9gd 39 |
(4) &2 MRamE|

[Question ID = 115][Question Description = S24_Social Science_Q055]
1. 1 [Option ID = 457]
2. 2 [Option ID = 458]
3. 3 [Option ID = 459]
4. 4 [Option ID = 460]



26) Which of the following factors leads to shortage in supply of fresh water ?
(A) Increasing urbanisation
(B) Rising standards of living
(C) Generating electricity through reservoir of dams
(D) Rising demand of food and cash crops
Choose the correct options :
() (A), (B), and (D)
(2 (A), (O and (D)
(3) (B), (O and (D)
(4) All of the above

et § 9 st sta F1 STl # FH F T FF E
(A) =l THRH

(B) & Brar e &R

(C) el % Stemer % AreAH & fagy s

(D) +fisH 3R el FHA! il agdl TR

et fashey & =94 |

(1) (A), (B), & (D)

(2) (A), (O) @R (D)

(3 (B), () ¥R (D)

(4) 39U gt

[Question ID = 116][Question Description = S24_Social Science_Q056]
1. 1 [Option ID = 461]
2. 2 [Option ID = 462]
3. 3 [Option ID = 463]
4. 4 [Option ID = 464]

27)
Choose the most appropriate option.

Change in the land use pattern leads to cultural changes in society because it ’

(1) increases the per capita income of that area
(2)  spreads modern values and practices

(8) affects the local natural resources and settings
(4) increases the infrastructural facilities



way 3 famrey = =7[

fer I # afteda gui wars § wiekfaes uftedH o ageEn @ € it
(1) 418 39 &3 & <l =1 9fa =i 5 i 9 < 2

(2) HE YT Hodl 3R S8R 1 e <1 €|

(3) ¥ TR GHEA AR SHH! L whi Jifad et €

(4) I GrEAaE glausl o et 8

[Question ID = 117][Question Description = S24_Social Science_Q057]
1. 1 [Option ID = 465]
2. 2 [Option ID = 466]
3. 3 [Option ID = 467]
4. 4 [Option ID = 468]

28) Fixing someone into an image is called

(1) photography

(2) creating a stereotype

(3) acknowledging diversity
(4) differentiating

forddt =61 w Bfa § a1 &1 9 ® |
(1) = Ei=a

(2) Efesg {RON SHET

(3) fafas =t ST ST

(4) ST HE

2

[Question ID = 118][Question Description = S24_Social Science_Q058]
1. 1 [Option ID = 469]
2. 2 [Option ID = 470]
3. 3 [Option ID = 471]
4. 4 [Option ID = 472]
29)
Consider the following Assertion (A) and Reasoning (R) about equality :
(A) People’s struggle and positive actions by the government are necessary to make equality a
reality.
(R) Equality is a value that we have to keep striving for and not something that will happen
automatically.
Choose the correct option.
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)is true but (R) is false.
(4) (A)is false but (R) is true.



Fr=fafas sl 9w (A) U1 SRIEOT (R) H1 TAHT & ded § 1 :
HAT (A) : TIH TF S fahdl 94, 39 foru @ril o W A TR g1 WS HeH 32T S H
TG AT B |
ST (R) : HHMA 98 Hod 2 fodes fore 29 et 999 sid @1 80T, I8 W&d: 78 80 |
et fashey 1 =9A Fifen)
(1)  (A) 3T (R) BF1 ®EI § 311 (R), (A) F1 6l =90 B
(2) (A) @91 (R) & F&l & fohg (R), (A) 1 FEl =areA] 781 €|
(3) (A) @& &, fohig (R) e 21
4) (A) 7 2, A (R) W&t 1
1[Q:u[a;ti9n |I|; =417 ; ]9][Question Description = S24_Social Science_Q059]
2. 2 [Option ID = 474]

3. 3 [Option ID = 475]
4. 4 [Option ID = 476]

30)
Which of the following statement is/are true ?

(A) Panch is also known as ward member under a panchayat area.

(B) All the members of Gram Sabha elect a Panchayat President.

(C) The Gram Sabha is a meeting of all adults who live in an area covered by a Panchayat.
Choose the correct option.

(1) (A)and (B)

(2)  (B) and (C)

(3) (A) and (O

(4) All (A), (B) and (C)

et & 9 & JUA e 9E 2

(A) T I T & % a8 §5H F A H o S S

(B) I\ | F Wt wew faerst dema gfem g 2

(C) U H T TEA h &5 H WA A WY 9 R 99 e B

Wl faeney =1 FAE hifsre |
(1) (A) ¥R (B)
(2) (B) ¥R (C)

c
(3) (A) 3R (C)
@) (A), (B) X (C) T+l

[Question ID = 120][Question Description = S24_Social Science_Q060]
1. 1 [Option ID = 477]
2. 2 [Option ID = 478]
3. 3 [Option ID = 479]
4. 4 [Option ID = 480]

31)



Which of the following statements is correct about Rajya Sabha ?
(A) Twelve (12) members of Rajya Sabha are nominated by the Prime Minister.

(B) The Rajya Sabha members are elected by the members of legislative assemblies of various
states.

(C) It functions primarily as the representative of the states in the Parliament.
(D) It plays a role in reviewing and altering laws initiated by the Lok Sabha.

Options :
(D) (A) (B) and (C)
(2 ) (C) and (D)

) (B
(3) (&) (C) and (D)
(4 (A) (D) and (B)

T & fawm ¥ frefafeg § 9 560 8 w9 wd@ ¥ 2

(A) TEEHN % 12 &I QU g Amviferd fore S |

(B) TsHEH % Hewa &1 g fafir= vl & faum |l & faffaa 9ew@ & €)1
(C) &8 HEad: e H Tl & wfafaferdi & wu # ol et 81

(D) SHEF! SHAY g Yafdd e % TR b uied | e €

T e =¥
(1) (A), (B) afn ©)
(20 (B), (© ¥R (D)
(3) (A) (O) ¥R (D)
(4) (A), (D) SR (B)
1['Q1u<[ecs)[t)itci>or:] |Ig =418 f]1][Question Description = S24_Social Science_Q061]

2. 2 [Option ID = 482]
3. 3 [Option ID = 483]
4. 4 [Option ID = 484]

32)
Match the column I of service condition with the column II on occupation and choose the
appropriate option.

Column I Column II
(a) Regular salaried (i) Street vendors
(b)  Casual work (ii) Housewife
(c) Self employment (i) Construction work
(d) Unpaid labour (iv) Teacher
Options :
(D) @ - @), ®) - (i), (c) - (i), (d) - (iv)
(2)  (a) - (i), (b) - (av), (€) - (@), (d) - (i)
(3) (@) - @v), (b) - (iii), (©) - (i), (d) - ()
(4) (@) - (), (b) - (), (c) - (i), (d) - (ii1)



frafafad siem 13 Samw @1 hied 11 % Sifas 9 gafad st SR 373 fasmed o =97 F)

et 1 e 11
(a) SN HHER (i) HEUE-oal SHMER
(b) A wm (i) @l
(c) TSR (iii) o TG
(d) o1 S5 =1 HeIgt (iv) Toremr
fasea
(1) (a) - @), (®) - (ii), (c) - (iii), (d) - (iv)
(2)  (a) - (i), (b) - @v), (€) - (i), (d) - (i)
(3) (@) - @v), (b) - (i), () - (), (d) - ()
(4) (a) - (i), (b) - (i), (c) - (iv), (d) - (i)

[Question ID = 122][Question Description = S24_Social Science_Q062]
1. 1 [Option ID = 485]
2. 2 [Option ID = 486]
3. 3 [Option ID = 487]
4. 4 [Option ID = 488]

33)
The arrangement between a merchant and weavers whereby former supplies the raw material to
latter and receives the finished product from the weavers is known as :

(1) Import - Export

(2) Co-operative
(3) Putting - out system
(4) Chain of markets

T SR AR & S w1 e STel SATIR S w1 e Wi S € SR I U HIe 9 e g,
FHEAT & |

(1)  srEE-Tama
(2) HesmI

(3)  SIEH

(4) SR S gEen

[Question ID = 123][Question Description = S24_Social Science_Q063]
1. 1 [Option ID = 489]
2. 2 [Option ID = 490]
3. 3 [Option ID = 491]
4. 4 [Option ID = 492]

34)



Which of the following are valid reasons for arguing that there is a lesser possibility of famine in a
democratic country ?

(A) People are free to practice faith of their choice.

(B) Government is likely to respond quickly fearing its defeat in the next election.

(C) Opposition can draw attention to hunger and starvation.

(D) Free Press can report suffering from famine.

Choose the correct option.

(1) (A) and (B) only

(2) Only (A), (B) and (C)
(3) Only (B), (C) and (D)
(4) Only (A), (B) and (D)

Frefafed § | 39 a% &, T T S0 | ST ®1 9ET FH E) g, R 9 96 R 2
(A) TR STUT ST = W % T s ¥

(B) EUHR el F1E H BN o A W wire wldfsman o7 |

(C) Tauer ypg iR qEmd #1 R AW 2MHfia #T g €
(D) T&ds U THe | B T F=) o e S wehdl €
el fersrey 1 =34 Hifeg |

(1) aa (A) R (B)

(2) AT (A), (B) 3 (C)

(3) e (B), (C) ¥R (D)

(4) I (A), (B) R (D)

1['Q1u<[e;[t)it?or:] |I|; =419 §]4][Question Description = S24_Social Science_Q064]

2. 2 [Option ID - 494]

3. 3 [Option ID = 495]
4. 4 [Option ID = 496]

2

(&t

35)

If in a class only girls are asked to help in cleaning, this can be considered as an example of the
following :

(1) Division of labour

(2) Gender stereotypes

(3)  Nurture and care

(4) Disciplining



3R T Fen H Fad el # gwE wE § weEd & fod we o @1 39 SeRlv °E 9Ed @
Frefefed = .

(1)  AfHeRl =1 fasmsH
(2) AfieE Sfeas grom
(3) HMT TS SEIE
(4) oTIeMET HTT

[Question ID = 125][Question Description = S24_Social Science_Q065]
1. 1 [Option ID = 497]
2. 2 [Option ID = 498]
3. 3 [Option ID = 499]
4. 4 [Option ID = 500]

36)
Which of the following is not true about the Constituent Assembly ?

(1) The Assembly had many members who were not with the Indian National Congress.
(2) The Assembly represented members from different social groups.

(3) Members of the Assembly believed in different ideologies.
(4)

4 The Assembly only had male members.

frafafes 8 § =9 T Gfaum 9 F g6y § 58 76§ 2
(1) T H %F 97 9 S YR T R & =/ T2 9
(2) = A Tafs= st el | o wewl & yfatiee R
(3) | % Wewd fafa= foaremst H favam #d o |
(4) 9 H heel JEY & 4|
1[Q1L1<E.-;titgn IB =510 f]é][Question Description = $24_Social Science_Q066]
2. 2 [Option ID = 502]

3. 3 [Option ID = 503]
4. 4 [Option ID = 504]

37)
The Preamble of Indian Constitution ensures which two kinds of equality to all citizens ?
(1)  Status and Opportunity
(2) Income and Wealth
(3) Property and Status
(4)  Opportunity and Income

RS9 & wErEe gt el w1 fF 1 wen w6 waea gty s 2

(1) wfaer R sEa
(2) @ SR

(3) Hufd iR gfas3t
(4) SEH 3R 3™



[Question ID = 127][Question Description = S24_Social Science_Q067]
1. 1 [Option ID = 505]
2. 2 [Option ID = 506]
3. 3 [Option ID = 507]
4. 4 [Option ID = 508]

38)

‘Legislature and Executive cannot interfere with the work of the Judiciary’. This statement stands
for which principle of the Indian Constitution ?

(1) Judicial Review

(2) Basic Structure Doctrine

(3) Separation of Powers

(4) Judicial Activism

*ferenforent SiR sriTferer], =mraifersht & %™ H gAY Tl X Hhd ¢ || FE HeT qRAr Hiaur & ey
fagia =i gafa 8 2

(1) = gie

(2)  SMERYE §=A 0 fagi

(3) il &l e

@) =P g

[Question ID = 128][Question Description = S24_Social Science_Q068]
1. 1 [Option ID = 509]
2. 2 [Option ID = 510]
3. 3 [Option ID = 511]
4. 4 [Option ID = 512]

39 Read the statements (A) and (B) and choose the appropriate option.

(4)

(A) There is no official religion of Indian state.
(B) There is a provision of reservation in government jobs for religious minorities.
Options :
(1) (A)and (B) are true
(2) (A)and (B) are false
(3) (A)is true (B) is false
(A) is false (B) is true

YA (A) S (B) =l UfgU a1 3ugeH fashed 1 =7 Hifag |

(A) 9T T 1 &g sAfumria ad 798§

(B) TaR! AepfE # nfvier sterderat % fer sram w1 yraeE
fawea

(1) (A) 3R (B) T §

(2) (A) 3R (B) 7o §

(3) (A)%El R, (B) oW §

(4) (A)T €, (B) A E



[Question ID = 129][Question Description = S24_Social Science_Q069]
1. 1 [Option ID = 513]
2. 2 [Option ID = 514]
3. 3 [Option ID = 515]
4. 4 [Option ID = 516]
40)
Which of the following statements are correct with reference to Bhopal Gas Tragedy ?
(1) Union Carbide was taken by surprise when the tragedy occured.
(2) Union Carbide cleaned up the toxic chemicals before leaving the country.
(3) Most of those exposed to the poison gas came from poor working class families.
(4) The survivors accepted the compensation given by the company without appealing against
the settlement in Supreme Court.

Trefafed wel § 4 =9 I Fe o9 9 T9E F 969 § e ?

(1) 7 FEEe Argdaisa © T o 59 T9E § |

(2)  IFEE FElEe ¥ <9 Bed ¥ v faiat WAl i Te-gwE ot
(3) wTedielt 1 o gush H o1H arel sifussist @ Tie s afiEi | 9
(4)

el

2

4) 3 AHE A Sifed = Frerer @t nil A gate = 8 T anfte o, S gr fed v gees
1 TR TR |
[Question ID = 130][Question Description = S24_Social Science_Q070]

1. 1 [Option ID = 517]
2. 2 [Option ID = 518]
3. 3 [Option ID = 519]
4. 4 [Option ID = 520]

“1) What is the vision behind the change in nomenclature Civics to Political Science ?
(1) To ensure obedience and loyalty among citizens.

(2) To create civil society who follows rules and regulations.

(3) To create civil society which is informed, receptive and responsible.

(4)

4) To create a civil society according to the universal value of progress.

AT SR ! ATHIEe TSTHiaes fora fohe ST o dis 1 gfie § 2

(1)  AFTRER] § SR wa feer =1 gifvEa e

(2) W UH 9 WHS 1 A9 HA S F4H g S o ST
(3) U UH YA HAS 1 TG AT S STaTd, YRS s ST 8|
(4) 9l o R el & STTHR U G WS okl TATAT S |

[Question ID = 131][Question Description = S24_Social Science_Q071]
1. 1 [Option ID = 521]
2. 2 [Option ID = 522]
3. 3 [Option ID = 523]
4. 4 [Option ID = 524]

2



42} Social Sciences are inter disciplinary in nature because,
(A) It does not have subject matter of its own.

(B) Issue of social sciences may not be confined to one discipline of social sciences.
Choose the correct option. |

(1) Only (A)is true

(2) Both (A) and (B) are false

(3) Only (B) is true

(4) Both (A) and (B) are true

e fasm =t ‘S@ﬁ'[ a7 fawg & #Hifs -
(A) I Tt IS fearmzersg & Bl |
(B) wrifser formm o ges wrifees faam & @i v fae o Hifa =21 81 e |
el oy = 999 & |
(1) Tk A) =
(2) (A) 3R (B) 2 e 2
(3) fadk (B) wel T
(4) (A) @R (B) SH Tt F |
1[Q:J«E=;titgn I||; =512 Z;]Z][Question Description = $24_Social Science_Q072]
2. 2 [Option ID = 526]

3. 3 [Option ID = 527]
4. 4 [Option ID = 528]

43} Which of the following chart shows steps in a process :
(1) Tabulation chart
(2) Narrative outline
(3) Classification chart
(4) Flow chart

= 9 9 9F W =R u gieran & =9on &) vl s g ?
(1) HroiEg =

(2) FHYAHF TALE
(3) EfieROl =T
(4) YERER

[Question ID = 133][Question Description = S24_Social Science_Q073]
1. 1 [Option ID = 529]
2. 2 [Option ID = 530]
3. 3 [Option ID = 531]
4. 4 [Option ID = 532]

44)



Which one of the following are commonly used constructivist methods of teaching social science at
elementary level ?

(A) Project work

(B) Lecture

(C) Field trips

(D) Discussion

Choose the correct option.
(1) (A), (B) and ()

(2 (B), (©) and (D)

(3)  (A) (©) and (D)

(4 (A) (B) and (D)

=1 9 9 FF-11 WIS R W 9 91 R s R S gren et e fame e s alem
2?

(A) gREsH
(B) SATEAM

(C) &= =H

(D) git==

wel fashey = =94 1 |
(1)  (A), (B) 3R (C)
(2 (B), (© ¥R (D)
(3) (A) (C) ¥R (D)
(4) (A), (B) ¥R (D)

[Question ID = 134][Question Description = S24_Social Science_Q074]
1. 1 [Option ID = 533]
2. 2 [Option ID = 534]
3. 3 [Option ID = 535]
4. 4 [Option ID = 536]

45)



Consider the four tasks given below and select the tasks that are most important for thematic
planning in a constructivist classroom.

TASK :

(A) Specifying teaching learning activities

(B) Clearly stating learning objectives

(C) Selecting assessment strategies

(D) Including tips on how to pass examinations
Choose the correct option.

(1) (A) (8 and (O

B), (C) and (D)

, (C) and (D)

frefafes 9) Frf | o1 € 6R 3 Sl &1 997 FL 5 Eat wa § faee e s9e 8 gatfus
ey 7 |

=T

(A)  Toem stfepmm wfafeafel 1 fovm w9 9 SecifEd &

(B) ¥To= w9 ¥ AferTq eSSl

(C) ATRe = Tkl 1 FI9 HEAT

(D) & H 9%a B o {od START goA e & |

o= .

(1) (A), (B) 3R (C)
(2) (B), (C) 37 (D)
(3) (A), (O) 3R (D)
(4) (A), (B) &R (D)

[Question ID = 135][Question Description = S24_Social Science_Q075]
1. 1 [Option ID = 537]
2. 2 [Option ID = 538]
3. 3 [Option ID = 539]
4. 4 [Option ID = 540]
46)
Which of the following is not a specific objective in the teaching of the concept of “Eclipses’.
(1) Learners will be able to explain how eclipse occurs.
(2) Learners will be able to develop awareness about physical world.
(3) Learners will be able to draw diagrams to represent an eclipse.
(4

) Learners will be able to demonstrate how an eclipse occurs with a model.



Frefafas § § FF-m 3299 ‘0’ i gy & e F fafvre st aE § 2
(1) T&" ¥ 2 § - faenedf 39 ufehon 1 wwen o |

(2) Toenedl sifaes g o s H SRk faswied e ari |

(3) ol wew =1 Senfer wfawy sedl & g famn o |

(4) Tomnedl, yeu %4 &4 €, Hied & HeAd H g9l 9 |

[Question ID = 136][Question Description = S24_Social Science_Q076]
1. 1 [Option ID = 541]
2. 2 [Option ID = 542]
3. 3 [Option ID = 543]
4. 4 [Option ID = 544]
47)
To strengthen the concept of markets and their functions, a teacher has three topics in her unit
plan.
(A) Markets and value addition
(B) Neighbourhood markets
(C) Chain of markets
Which of the following sequence of teaching is most suitable ?

(1) (A), (B) and (O)

(20 (B), (©) and (A)
(3) (B), (A) and (©)
(4)  (A) (C) and (B)

o iR TR FHE-fafie @) e A qge w0 ¥ o, uw fe ¥ u w3 e (afe
) H o faw &1

(A) @SR 3R g4 gfg (de TfevH)

(B) HIgeel % FSIT

(C) TR kT e

frefafas 8 @ %0 w1 faero =1 stse aifa 3o 22

() (A) (B) 3 (©)

(2 (B). () ¥R (A)

(3) (B), (A) #X(C)

(4 (A), () 3R (B)

[Question ID = 137][Question Description = S24_Social Science_Q077]
1. 1 [Option ID = 545]
2. 2 [Option ID = 546]
3. 3 [Option ID = 547]
4. 4 [Option ID = 548]

48)



plan contains all curricular and co-curricular activities in social science to be taken
in the specified academic year.

(1) Weekly
(2) Daily
(3) Unit

(4) Annual

s wreferes famm it 9r) Teg=EiTa ok wezEETTH fRaredl o Geher 2l & S
39 fafere Sifers ad o d=ifom fee - €

(1) Hrarfes

(2) <fe

(3) TS

(4) =ifties
[Question ID = 138][Question Description = S24_Social Science_Q078]
1. 1 [Option ID = 549]

2. 2 [Option ID = 550]
3. 3 [Option ID = 551]
4. 4 [Option ID = 552]

49 Consider the following statements and choose the correct option.
While teaching gender roles, a teacher should
(A) Suggest different professions for boys and girls

(B) Offer different education for boys and girls
(C) Challenge stereotypes in everyday life

Options :

(1)  Only (A) and (B)
(2)  Only (B)

(3) Only (A)

(4) Only (C)



frafafas el W foar w1 oI T8 faswey &1 == &1

S (¢ifirr) yfaemel 1 faa gwa, Tw e = |
(A) @S AR ASHAT il ST HTHE! 1 AT H G o1 = |
(B) EiSH-crelel I srer-27er foen <t =nfed

(C) ofes Sfte H Sigt (Afen) wfedl = g <A =fey)

fa=ey

(1) = (A) 3R (B)
(2) A (B)

(3) IA (A)

(4) FaA (C)

[Question ID = 139][Question Description = S24_Social Science_Q079]
1. 1 [Option ID = 553]
2. 2 [Option ID = 554]
3. 3 [Option ID = 555]
4. 4 [Option ID = 556]

50)

To do a project on the topic ‘challenges faced by women at workplace’, which of the following
sources will provide primary information ?

(1) Personal Interviews

(2) Biography
(3) Textbook
(4) Newspaper

‘gfeensl #1 wESE H &9H Frel gAfadl’ fav W e w9 F ol el § 9 @9 @ g0 ngfhs
AN S HHA © 2

(1) AT HI&TehR
2) St

(
(3)  HISRIHES
(4)  THER 9

[Question ID = 140][Question Description = S24_Social Science_Q080]
1. 1 [Option ID = 557]
2. 2 [Option ID = 558]
3. 3 [Option ID = 559]
4. 4 [Option ID = 560]

) To undertake a project with students, what should be the first step ?
(1) Planning data collection
(2) Locating sources of data
(3) Deciding the objectives
(4) Analyzing the findings



BE & Y TF Yo & & o, 999 gl Fed 91 8H1 =feu ?
(1) TS THAY HT IS T |

(2) Alwg F w1 fafe )
(3) Ie¥El 1 THR |
(4) @ISl Tager o &)

[Question ID = 141][Question Description = S24_Social Science_Q081]

1. 1 [Option ID = 561]

2. 2 [Option ID = 562]

3. 3 [Option ID = 563]

4. 4 [Option ID = 564]

52)
Which of the following questions assesses ‘analyzing’ skill of learner :
(A) What type of clothes the people of Sahara desert wear ?

(B) Climate of Sahara desert is so hot and harsh even then people wear heavy robes why ?
Discuss with reasons and suitable examples.

(C) ‘Present day Sahara once used to be a lush green plain’. How would you examine this
statement.

Choose appropriate option.
(1) (A)and (B)

(2) (B)and (C)
(3) (A)and (C)
(4) (C) only

e 8 9§ =% /9 vy aftrrgsst & fawern’ wee @ ereed F:3d ©

A) TER ARG % @ e YR o 9% UEAd © 2

B) WERI T i STearg §a-1 o i TH € a9 ol o8l W ErT Rl 7% i Ued § 2 SUYE RN
9 TR ok | ==t i |

(C) ' &77s 1 Herl IATEH Uk THE H a9 HEH g3 Ha 1| 19 39 FYA F S FH B 2

IUGeR fashey ol =3 Hife |
(1) ~ (A) 7= (B)

(2) ~ (B) 71 (C)

(3) - (A) 7= (O

(49 F9 (©)

[Question ID = 142][Question Description = S24_Social Science_Q082]
1. 1 [Option ID = 565]
2. 2 [Option ID = 566]
3. 3 [Option ID = 567]
4. 4 [Option ID = 568]

53)



A social science teacher could use which of the following assessments to understand why a student
is not doing well in geography ?
(1) Placement assessment

(2) Summative assessment
(3) Diagnostic assessment
(4) Formative assessment

e g fasm forfaem fr=fafiag s § 9 %9 91 99 Tt § oFR 37 98 H99 81 i U faenefi
i H The el § 2
(1) F&A199 ket
(2) AFHSE ik
(3) AefE atishe
(4) TEATHE i
[Question ID = 143][Question Description = S24_Social Science_Q083]
L o

3. 3 [Option ID = 571]
4. 4 [Option ID = 572]

54)
What approach (es) should be kept in mind while teaching social and political life content. Consider
the following two statements and choose the correct answer.

(I) Take a unidirectional approach to teach about social-political issues and concerns.
(I)  Avoid contentious contemporary themes that can impact commonness and homogenity in

the class.
Options :
(1)  Only (I)

(2)  Only ()
(3) Both (I) and (II)
(4) Neither (I) and (IT)



[ AR ASHIfdeE sia fa9a Tg T99 SM d /| SINTH/3UAHI 61 299 3 W@ =iey 2 Fafatad

31 el I TR wifsre qon w8t fosey 1 == Hife

HUT () :  HHESTR—UsTIfdR HEel SR el & a8 H 9gH o Tt Ui 39 o |

W (IN) : FeelUd T gt faudt i Shen #1 S e & grfesna 6 UHET S gafed
el @ |

faeey -

() e ()

(2) e (1)

(3) (1) &R () I

(4) (O ¥R (1) R Tl

[Question ID = 144][Question Description = S24_Social Science_Q084]
1. 1 [Option ID = 573]

2. 2 [Option ID = 574]

3. 3 [Option ID = 575]

4. 4 [Option ID = 576]

55)

Which of the following statements is essential to make social sciences relevant to elementary school
students ?

(1) “Provide a plethora of details, facts and information to students’.
2

(2) ‘Textbook must be seen as the ultimate source of knowledge’.
(3) “Social sciences do not lend themselves to scientific inquiry hence it is easy’.
(4)

4) ‘Social science is indispensible for laying the foundations of an analytical mind’.
frafafad Fu=i 8 § &9 9@ F99 IR @ha & faentE & fog gmfss fagm & asfieE o9 & 3§
HETIF & ?
(1) foenfel i ez faawon, qedi oK g=m Sqers 3T |
(2) USYETh @l FH % U EId % T H <@ A =i
(3) grifser faam w1 Sefes wiemr gaa =@ & gafen 78 o #)
(4) T TaRCTUTeT | &1 gER @ o for wrEite e srafer g
1[Q:.Jc[e;ti9n |Ir; =517 t;]S][Question Description = $24_Social Science_Q085]
2. 2 [Option ID = 578]

3. 3 [Option ID = 579]
4. 4 [Option ID = 580]

56)



Consider the following statements and choose the correct option.

(A) Thematic approach is useful for developing a unit plan.

(R) Societal issues are better understood through the study of interdisciplinary content.
Options :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A)is true but (R) is false

(4) Both (A) and (R) is false

Frefafad sy w fogr w3k T8 faskea &1 997+
(A) Ffe drs w1 fasm w3 % fou A 39 39Ert €
(R) wAafdvas faug-awg & 1era & Weag 8 "fes Areel o1 Sgok S S § |
fa=ea .
(1)  (A) 3R (R) F1 TEl & 3iiT (A) &7 (R) T& =T a1
(2) (A) 3R (R) A1 92 € AfFA (A) 1 (R) FEl =47 781 3l 2 |
(3) (A) W& & &feha (R) Terd & |
(4) (A) @R (R) SFI 7Ted €
1[Q1L1<[acs;titgn IB =513 ¢1116][Question Description = $24_Social Science_Q086]
2. 2 [Option ID - 582]

3. 3 [Option ID = 583]
4. 4 [Option ID = 584]

57)

To experientially teach about natural vegetation and wildlife, which of the following methods will
be the best pedagogical approach ?

(1) Taking students for a nature walk.

(2) Screening a documentary.

(3) Inviting an expert for a talk.

(4) Having group presentations based on information in the textbook.

Yrepfer aEafd SR &1 S & o) § S Yares §9 9 g & fau, fefafea fafagi § € =5 4 fafy
Tk 2 T 3R Bl 2

(1) Ternfefai =61 yepfa ywam < forg ot s |

(2) i = YS9 |

(3) Uk fomst i arE o fu SmEEa w5

(4) UTSIgEThR H SYee GOl o SR U TS TRl A |

[Question ID = 147][Question Description = S24_Social Science_Q087]
1. 1 [Option ID = 585]
2. 2 [Option ID = 586]
3. 3 [Option ID = 587]
4. 4 [Option ID = 588]



58)

"Why do you think proper ways of garbage disposal are not available to those living in slums ?
This question attempts to assess a student’s ability to :

(1) Generalise

(2) Extrapolate and estimate

(3) Reason

(4) Imagine

 3TTahl T T § e 1 FreRw wE afeEl | B 9 Rl & A suerey T8 © 2

7T Y9 YA § B i i ST T ST |
(1) ST

(2) HATHH TH

(3) e o (fae=mr &)

(4) U R

[Question ID = 148][Question Description = S24_Social Science_Q088]
1. 1 [Option ID = 589]
2. 2 [Option ID = 590]
3. 3 [Option ID = 591]
4. 4 [Option ID = 592]

59)

In the middle of teaching a topic, a teacher conducts a test to identify conceptual confusions among
students. What kind of assessment is she conducting ?

(1) Placement assessment

(2) Summative assessment
(3) Formative assessment
(4) Peer assessment

% faua 1 ygH & =t H fafees faenie= § seuromeres gfawsdl & S & fau o= sEfsy
LA & |

% f5Fg YR o Sfiche 1 ST 92 @I 82

(1) T ket

(2) AFIHE Ak

(3) TEAIHSE ikl

(4) HEUET SAher

1[Q:n[e;ti9n |Ig =519 ‘31]9][Question Description = $24_Social Science_Q089]

2. 2 [Option ID = 594]

3. 3 [Option ID = 595]
4. 4 [Option ID = 596]

(S 2]

60)



A teacher finds the following levels of performance in a test, after the completion of the topic
‘Diversity” and ‘Discrimination’.

Student (A), is able to identify prejudice and discrimination in various situations.

Student (B), is able to define prejudice and stereotyping.

Student (C), is able to indicate relevant constitutional provisions for specific acts of discrimination.
Arrange the students performance in the fest starting from most conceptually clear.

Options :

(1) (A) (B). (©
(2)  (B) (©), (A)
(3) (O, (B), (A)
(4 (Q), (A), (B)

Tafaerma oix Sigvma’' fawa & g 39 & =18 e o= ¥ yeen & fFrefafed &3 %1 9 @ 2
fommeft (o)« fafay ofifefaEt & qaie st Sev@ &t veam § wmd &

foenedffl B) :  wfgag uwom AW 3R y@ive i i w0 w9 51

famnefi (©) :  WRwmE % fafere e % fou gy gawf= s w1 iR H@Ha we o wmd §)
SFYRICHS 4 9T 31fd T Ry #3d g, e § faenfeEi & yevH =1 gouafrem #ife)

(1) (A) (B) (O

(2 (B) (©), (A)

(3  (©) (B), (A)

4 (O, (A), (B)
[Question ID = 150][Question Description = S24_Social Science_Q090]
1. 1 [Option ID = 597]

2. 2 [Option ID = 598]
3. 3 [Option ID = 599]
4. 4 [Option ID = 600]

Topic:- HIN_Q91-99_L1_P2_CTET

1)



few w Trenyr it eargEe ufey siv U Tw wvR @t fawme gfa

FEl ST 7, T YRR H 2 T wiwrsh 1 9 gl © SN TR YR o e S 6 9s g
3TCAd SATEYHF © | SHEE $i Afeqe gig i sHar FY agdt T #i emyfd F fon Jsem sik
AT aES &1 9fd & fore agan st SH1 = ardeon sl € | sy yfed fwm @)
T sraEen B SIreR & YE W ©E Uk UE] 99 TS| I SHer ygu =1e 9 W El,
STe T B 31aT wa i o, U fAawa enyfaes auen & w9 1§ 9 § e fog g § 21 fog
IEHed 79 WiE o €, 98 gd g o1 W@ & @R 7w feafd Feet awa i T ek st
29l H weu i T fashe 2t o W@ ¥ | S 6 a1 78 0% weA ¢ T afemme @ w s agmm
& wOT g i afe site € = frefa e w6t e ot <vent # 7 gest weea | o fed
off et & Ted 9 @l @ ey, seenfadt g 8 9T gndey, wiofi & s ol e €
33 B

T F AR T T IR F A seavas €

(1) oT=31 =

(2) ¥g ArdE

(3) W& 9EAT

(4) S HAYWE
[Question ID = 181][Question Description = S24_Hindi Content/Pedagogy_Q091]
1. 1 [Option ID = 721]
2. 2 [Option ID = 722]

3. 3 [Option ID = 723]
4. 4 [Option ID = 724]

2)



few . renyr it sargEes ufey st U Tw wvR @ famen i)

1 S 8, T v # Ty a1 9w Sl @ R ey TR % e arame w5 s @
ST STEvas ¢ | SHEE &1 afede gfg i SHar = aedt W &t o gid & fog s iR
ATETIF T3 1 Gfd & fow agar il S = ardeon S Hm | A gefed fem €
T s7eee | SareTy 1 G B W Uh U1 99 T 7 | AT SHifay g |9 9n w6 El,
e %1 81 S1E e, Uk far snyfes Twen & w9 ° 9e € it o/ g 5 ok o
IAHSA H g9 Wi oid §, 9% Ughd 2 S @l § R 7% fefd had vwd # J8 afce sifuehie
297§ g Y TS fashe Sl T T ¥ | Sl o 6 FE a9 weA § T Sfewe 81w 5 ugwm
3 O i ) A viw @ T i fen e o At geel H T g W A e
off SHarl % @ 3 e 18 I, aedfad 9 el 99 U, 9Toi % Sied = dl 99T 8 el
334 B

STATER T F YHE Be all He FE §

(1) ST =i st 1t qen ufd

(2) SFEEET g R § g9fg

(3) USTIR et st 91T e gfd

(4) SwgEn § Hifag fog s | @y gfs

[Question ID = 182][Question Description = S24_Hindi Content/Pedagogy_Q092]
1. 1 [Option ID = 725]
2. 2 [Option ID = 726]
3. 3 [Option ID = 727]
4. 4 [Option ID = 728]

3)



few . renyr it sargEes ufey st U Tw wvR @ famen i)

1 S 8, T v # Ty a1 9w Sl @ R ey TR % e arame w5 s @
ST STEvas ¢ | SHEE &1 afede gfg i SHar =i sedt 9 @t o gid * fag s iR
ATETIF T3 1 Gfd & fow agar il S = ardeon S Hm | A gefed fem €
T s7eee | SareTy 1 G B W Uh U1 99 T 7 | AT SHifay g |9 9n w6 El,
e %1 81 S1E e @, Uk far enyfes Twen & w9 ° 9E € it o g 1§ oiw 5w
IAHEA H g9 Wi o §, 9 Ughd g S @ © IR ¥% fufd Shad vwd #i 98 afcew sifueeia
297§ g Y TS fashe Sl T T ¥ | Sl o 6 FE a9 weA § T Sfewe 81w 5 ugwm
3 O i ) A viw @ T i fen e o At geel H T g W A e
off SHaEl % @ A e 18 e, aedfadl 9 el 979 U, 9Toi 3 Sied = dl 99T 8 el
334 B

T % SATEAR MY e § .
(1) =rgHSA TR

(2) USTIR H

(3) “HEEnH Ifs

(4) = arfHT

[Question ID = 183][Question Description = S24_Hindi Content/Pedagogy_Q093]
1. 1 [Option ID = 729]
2. 2 [Option ID = 730]
3. 3 [Option ID = 731]
4. 4 [Option ID = 732]

4)



few w Trenyr it eargEe ufey siv U Tw wvR @t fawme gfa

FEl ST 7, T YRR H 2 T wiwrsh 1 9 gl © SN TR YR o e S 6 9s g
3TCAd SATEYHF © | SHEE $i Afeqe gig i sHar FY agdt O #i emyfd F fow I sik
AT aES &1 9fd & fore agan st SH1 = ardeon sl € | sy yfed fwm @)
T sraEen B SIreR & YE W ©E Uk UE] 99 TS| I SHer ygu =1e 9 W El,
STe T B 31aT wa i o, U fAawa enyfaes auen & w9 1§ 9 § e fog g § 21 fog
IEHed 79 WiE o €, 98 gd g o1 W@ & @R 7w feafd Feet awa i T ek st
29l H weu i T fashe 2t o W@ ¥ | S 6 a1 78 0% weA ¢ T afemme @ w s agmm
& wOT g i afe site € = frefa e w6t e ot <vent # 7 gest weea | o fed
off et & Ted 9 @l @ ey, seenfadt g 8 9T gndey, wiofi & s ol e €
33 B

TEHY T HHET § ;

(1) ad 9%d |

(2) Few e e o

(3) TERF afereRay <O H

(4) IR F F @ < o
[Question ID = 184][Question Description = S24_Hindi Content/Pedagogy_Q094]
1. 1 [Option ID = 733]
2. 2 [Option ID = 734]

3. 3 [Option ID = 735]
4. 4 [Option ID = 736]

5)



few w Trenyr it eargEe ufey siv U Tw wvR @t fawme gfa

FEl ST 7, T YRR H 2 T wiwrsh 1 9 gl © SN TR YR o e S 6 9s g
3TCAd SATEYHF © | SHEE $i Afeqd gig i sHar FY At G $i emyfd F fom I siw
AT aES &1 9fd & fore agan st SH1 = ardeon sl € | sy yfed fwm @)
T sraEen B SIreR & YE W ©E Uk UE] 99 TS| I SHer ygu =1e 9 W El,
STe T B 31aT wa i o, U fAawa enyfaes auen & w9 1§ 9 § e fog g § 21 fog
IEHed § 79 WY o €, 98 Ed g o T & @R 7% feafd et vwa i T ek st
<1 H o e feene 2t S 7@ § | A o o Al @ o € o afewr 2 1 56w
& o T o afe oftw & e frf foren e e et <R § A gest we o @ feRd
off Sitarart & @ 9 @l @ ey, seefadt g+ 9T ande, ol & s o e €
ECnIRA

Terter ¥ SifeEra sd wgu i gor fREE w2

(1) e |ig 4

(2) fmfed

3) fo==¥

(4) SR E
[Question ID = 185][Question Description = S24_Hindi Content/Pedagogy_Q095]
1. 1 [Option ID = 737]
2. 2 [Option ID = 738]

3. 3 [Option ID = 739]
4. 4 [Option ID = 740]

6)



T T wTeriyr Rt earTgE ufew ST U T uve = faswey 9wy

FEl ST 7, T YRR H 2 T wiwrsh 1 9 gl © SN TR YR o e S 6 9s g
3TCAd SATEYHF © | SHEE $i Afeqd gig i sHar FY At G $i emyfd F fom I siw
AT TR F1 9fd & fore agan sEiwo S = ardeon S e | 3y yufead @)
T sraEen B SIreR & YE W ©E Uk UE] 99 TS| I SHer ygu =1e 9 W El,
STe T B 31aT wa i o, U fAawa enyfaes auen & w9 1§ 9 § e fog g § 21 fog
IEHed § 79 WY o €, 98 Ed g o T & @R 7% feafd et vwa i T ek st
29l  veu 1 T fashe 2 o W ¥ | S A T8 9% weE ¢ T e @ w s agmm
& wOT g i afe site € = frefa e w6t e ot <vent # 7 gest weea | o fed
off Sitarart & @ 9 @l @ ey, seefadt g+ 9T ande, ol & s o e €
ECnIRA

‘ST AT SR | A gt w1 e TR oft Sirau % @ A e e )
AT FT WA E -
A e =l H -
(1) 9=t § 993 1 i gar € S
(2) U § Sqell o Al THTE B S
(3) 9T H WYl WK o SiiaH 1 S HHIE 81 ST
(4) T ¥ e AR g T o
1[Q:J?;E1C]);‘:] ||[; =714 213]6][Question Description = $24_Hindi Content/Pedagogy_Q096]
2. 2 [Option ID = 742]

3. 3 [Option ID = 743]
4. 4 [Option ID = 744]

7)



few w Trenyr it eargEe ufey siv U Tw wvR @t fawme gfa

FEl ST 7, T YRR H 2 T wiwrsh 1 9 gl © SN TR YR o e S 6 9s g
3TCAd SATEYHF © | SHEE $i Afeqd gig i sHar FY At G $i emyfd F fom I siw
AT aES &1 9fd & fore agan st SH1 = ardeon sl € | sy yfed fwm @)
T sraEen B SIreR & YE W ©E Uk UE] 99 TS| I SHer ygu =1e 9 W El,
STe T B 31aT wa i o, U fAawa enyfaes auen & w9 1§ 9 § e fog g § 21 fog
IEHed § 79 WY o €, 98 Ed g o T & @R 7% feafd et vwa i T ek st
<1 H o e feene 2t S 7@ § | A o o Al @ o € o afewr 2 1 56w
& o T o afe oftw & e frf foren e e et <R § A gest we o @ feRd
off Sitarart & @ 9 @l @ ey, seefadt g+ 9T ande, ol & s o e €
ECnIRA

Freifora’ e wewT % -
(1 =
() P
(3)
(4) =

[Question ID = 187][Question Description = S24_Hindi Content/Pedagogy_Q097]
1. 1 [Option ID = 745]
2. 2 [Option ID = 746]
3. 3 [Option ID = 747]
4. 4 [Option ID = 748]

8)



few w Trenyr it eargEe ufey siv U Tw wvR @t fawme gfa

FEl ST 7, T YRR H 2 T wiwrsh 1 9 gl © SN TR YR o e S 6 9s g
3TCAd SATEYHF © | SHEE $i Afeqd gig i sHar FY At G $i emyfd F fom I siw
AT aES &1 9fd & fore agan st SH1 = ardeon sl € | sy yfed fwm @)
T sraEen B SIreR & YE W ©E Uk UE] 99 TS| I SHer ygu =1e 9 W El,
STe T B 31aT wa i o, U fAawa enyfaes auen & w9 1§ 9 § e fog g § 21 fog
IEHed § 79 WY o €, 98 Ed g o T & @R 7% feafd et vwa i T ek st
<1 H o e feene 2t S 7@ § | A o o Al @ o € o afewr 2 1 56w
& o T o afe oftw & e frf foren e e et <R § A gest we o @ feRd
off Sitarart & @ 9 @l @ ey, seefadt g+ 9T ande, ol & s o e €
ECnIRA

‘TR H HHE W S Sy |
(1) 38
(2) e
(3) T8I
(4) gslite
[Question ID = 188][Question Description = S24_Hindi Content/Pedagogy_Q098]
1. 1 [Option ID = 749]
2. 2 [Option ID = 750]

3. 3 [Option ID = 751]
4. 4 [Option ID = 752]

9)



few w Trenyr it eargEe ufey siv U Tw wvR @t fawme gfa

gl ST §, T YRR H & T uiash o1 9 2l € o7 Ty YRR & o S 6 s g
3TCAd SATEYHF © | SHEE $i Afeqe gig i sHar FY agdt O #i emyfd F fow I sik
AT aES &1 9fd & fore agan st SH1 = ardeon sl € | sy yfed fwm @)
T sraEen B SIreR & YE W ©E Uk UE] 99 TS| I SHer ygu =1e 9 W El,
STe T B 31aT wa i o, U fAawa enyfaes auen & w9 1§ 9 § e fog g § 21 fog
IEHEd 79 WiE o ¥, 98 gd g o W@ & @R 7% feafd Feet awd i T ek st
29l H weu i T fashe 2t o W@ ¥ | S 6 a1 78 0% weA ¢ T afemme @ w s agmm
& wOT g i afe site € = frefa e w6t e ot <vent # 7 gest weea | o fed
off Sitarart & @ 9 @l @ ey, seefadt g+ 9T ande, ol & s o e €
334§

g 9 e v §
(1) emyf=

(2) ATEAYIH

(3) T

(4) WA

[Question ID = 189][Question Description = S24_Hindi Content/Pedagogy_Q099]
1. 1 [Option ID = 753]
2. 2 [Option ID = 754]
3. 3 [Option ID = 755]
4. 4 [Option ID = 756]

Topic:- HIN_Q100-105_L1_P2_CTET

few @ wTey @ sagEe ufen 3it Frefafea uvw @ fawea g
T 9T IS TRl TR,
TFI-&¢ H el g3l |
gl TEl 9Y-9d *h T,
STe-vifE &g g |
THE! BIg Fal o8 e,
forora-—dia @et |
WA <RI FHeT HRl |
Hferar F et FHmaT i T €2
(1) =T = T ol
(2) YRH % HE I FeTH Hi
(3) TeR-vIfe & URTH i
(4) TA-EE % TUNTH i

[Question ID = 190][Question Description = S24_Hindi Content/Pedagogy_Q100]

1)



1
2
3.
4

2)

. 1 [Option ID = 757]
. 2 [Option ID = 758]
3 [Option ID = 759]
. 4 [Option ID = 760]

faw @ wTeatyr w1 saUEe ufen siit Freafafea gy = fawmea gfm)
THII T T T 7,

A58 H gl g

Y TE 9Y-9d S,

eIt 9§ &g g |
THE! IS el a8 o,
forstg—fiven 3&t |
9 I ST Fal |
I o S I HEUA 9 qed ¢ -
(1) fosrg men
(2) TG fead
(3) @ifd =
(4) I

[Question ID = 191][Question Description = S24_Hindi Content/Pedagogy_Q101]
1. 1 [Option ID = 761]
2. 2 [Option ID = 762]
3. 3 [Option ID = 763]
4. 4 [Option ID = 764]

3)

few @ wTetyT w1 eAEEe ufen sitt Freafafea wvw = fawmea gfm)
TR 9T 7Sl e Te,
F1-58 H Sgl g3l
T TEl Y96 & W,
- H a2l g
THH1 D1S Fel a8 T,
forera—dian @et |
R hl Hel el |
AT <1 Te=ran wif & fore forr w1 e & fore 3 faran 22
(1) 346
(2) stfEmn
(3) vfeR-es
(4)  SAH-HHIT

[Question ID = 192][Question Description = S24_Hindi Content/Pedagogy_Q102]



1. 1 [Option ID = 765]
2. 2 [Option ID = 766]
3. 3 [Option ID = 767]
4. 4 [Option ID = 768]

Y fiw o ey W s ufau s Freafafen wow @ faeer gfm
TR T ST TRl g,
A58 H gl g
e TR YT F T,
eIt 9§ =g g |
THE! TS FEl a8 Tedl,
forora-—dian 2l |
A Rl el el |

‘g2’ & W ¥ Ty iR g frar mar g2

(1) 3R 8

(2) femeyrl =
(3) = 9E

(4) ST

[Question ID = 193][Question Description = S24_Hindi Content/Pedagogy_Q103]
1. 1 [Option ID = 769]
2. 2 [Option ID = 770]
3. 3 [Option ID = 771]
4. 4 [Option ID = 772]

? fiqu T AT w1 e ufen it frefafaa v @ e g
TR 9T 7Sl e Te,
gg1-58 H g gl
e TE I % T,

eI o &g g |
TH| TIS Fel 98 Wed|,
forera—dizan @t |
R 1 el Fal |
TR IR s -
(1)
(2) A
(3) iR
(4) MRd

[Question ID = 194][Question Description = S24_Hindi Content/Pedagogy_Q104]



1. 1 [Option ID = 773]
2. 2 [Option ID = 774]
3. 3 [Option ID = 775]
4. 4 [Option ID = 776]

¥ fiw o e Y sy ufau s frefafaa v @ faeer afm
TR T 3T TR 7,
A58 H gl g
Y TE 9Y-9d S,

eIt 9§ &g g |
THF! TS Fal a8 T,
forra—<ivan @t |
9 I ST Fal |
‘foera’ wisg 1 faeim @ -
(1) TS
(2) ®R
(3)  AsRId
(4) =%

[Question ID = 195][Question Description = S24_Hindi Content/Pedagogy_Q105]
1. 1 [Option ID = 777]
2. 2 [Option ID = 778]
3. 3 [Option ID = 779]
4. 4 [Option ID = 780]

Topic:- HIN_Q106-120_L1_P2_CTET

1)

Gifter ot e B 9 feofad W e andfas wfafafisl swad @ S faafia & sfee
sTwal § Hefud § | @ fopm faeo fafy & s+ w1 272

(1)  g=q wifires fafy
(2) =HAERY A fafy
(3)  HEEUTEE A e

)
(4) HEARHS HifEgs 3UEH

[Question ID = 196][Question Description = S24_Hindi Content/Pedagogy_Q106]
1. 1 [Option ID = 781]

2. 2 [Option ID = 782]

3. 3 [Option ID = 783]

4. 4 [Option ID = 784]

2)



weged fafer & gaier & -1 %o W ' 2

(1) weger Tafer = sy faenfei =i Sfes feafedi & amn wim & Heg e 7= &

2)  weet fafy o1 SRva faenfefi &1 shaa e H s v o fon weg S R

) weae fafy =1 3gva femnfel=i =1 fe feafadi # o w2 § weg e ©

(4) e fafy = seva faenfeldi =1 ured |rRl =1 SR FiF T S 9 95 el &
T H UEE A §

[Question ID = 197][Question Description = S24_Hindi Content/Pedagogy_Q107]
1. 1 [Option ID = 785]
2. 2 [Option ID = 786]
3. 3 [Option ID = 787]
4. 4 [Option ID = 788]

i
- ]

—

3)

eltar 1o faenfeli @ smifie it (Swafa) @K qFsel 1 Yok e 3 8, 39 @ § 98 396
o qe1 1 Aoy # W 82

(1) =i faar smrEesd

(2)  @eRfd fam SETEFl
3) T fasm sk
(4) SR 6 Fid SRS

[Question ID = 198][Question Description = S24_Hindi Content/Pedagogy_Q108]
1. 1 [Option ID = 789]
2. 2 [Option ID = 790]
3. 3 [Option ID = 791]
4. 4 [Option ID = 792]

Y for grie v % wT o ST S R 2
(1) S 9 o 9eq

(2) AT ¥ YeA
(3) Tewhre wem
(4) FHedg HEl

[Question ID = 199][Question Description = S24_Hindi Content/Pedagogy_Q109]
1. 1 [Option ID = 793]
2. 2 [Option ID = 794]
3. 3 [Option ID = 795]
4. 4 [Option ID = 796]

Y frefefe § Y e s wed SRR F el wiedt Rt fafie e 3 o v v §2
(1) T R

(2) R ¥ YA
3) Temifen
(4) THeHG HE

[Question ID = 200][Question Description = S24_Hindi Content/Pedagogy_Q110]
1. 1 [Option ID = 797]



2. 2 [Option ID = 798]
3. 3 [Option ID = 799]
4. 4 [Option ID = 800]

6)

Titar s7o Fermfef=i =t aXiEn =t A1 o @ ¥ | 98 3% Ueh oo ol © SN IHH U ¥ T
Eifera &Y < 81 Fgfaered 99 & 9reqH | 98 @i e % HHieRy oY A faske =i
T % fore sedt %1 Tiian e 3 ford SUshieTel shi udien o 6 82

(1) =™

(2) TS

(3) W=\ YeR
(4) TR

[Question ID = 201][Question Description = S24_Hindi Content/Pedagogy_Q111]
1. 1 [Option ID = 801]
2. 2 [Option ID = 802]
3. 3 [Option ID = 803]
4. 4 [Option ID = 804]

" Som s ferenfeld = v wR S A S AR ¥ 5 P T e e
(1) o forsit wasl o w=ai & 1 g
(2) o H fordl wreg =l WEifhd X 39eR FEAE g
(3) o H ot 91se =l @ifchd #Y 38! faemei gom
(4) TR 9 FB U= <Y, Hel H Sh o1 Eie
1[Q:J([e;tit9n I|[|; =820(;]2][Question Description = $24_Hindi Content/Pedagogy_Q112]
2. 2 [Option ID = 806]

3. 3 [Option ID = 807]
4. 4 [Option ID = 808]

)
el et ool ot Freferfiad arTedg S B
i e R F9 e 9 Hiewal @ik | H IHdt off TR sifeer gef w F

o @ TR of T H oo |
Tz ferenfefa =1 waifues SugeE Wl & mream 9§ fom wm =1 gfd & & fag wed )
e v =1 gfd & ferg <& o fernfef &1 s & &m 2
(1) HeH okl 9 HaiiHe IUFeH oeg S BRI
(2) et SR & TRl o gEeE g
(3) o o TR fo=Te R FHEAl B
(4) OIS I foregers sl FHSAT RN

[Question ID = 203][Question Description = S24_Hindi Content/Pedagogy_Q113]
1. 1 [Option ID = 809]
2. 2 [Option ID = 810]
3. 3 [Option ID = 811]
4. 4 [Option ID = 812]



9) =
et faft § sarepm forg gahr § gerg it 82
(1) AT i 4
(2) T aler |
(3) o =rEm %
(4) HEH TFE H
[Question ID = 204][Question Description = S24_Hindi Content/Pedagogy_Q114]
1. 1 [Option ID = 813]
2. 2 [Option ID = 814]

3. 3 [Option ID = 815]
4. 4 [Option ID = 816]

o qrezery Tesmed § wagdiator sqa-omg | forgd gefeq 22
(1) & ufskand =8 Frafawrer i) erwfes fawmasg &1 =97 fwmm s g
2) o fagr ford foveeas &1 9aem 9 %0 Fuifia e sma &
(3) I TE HLT I qEHAR
(4) o fasm ) fafire afensi @ sxe #F o

[Question ID = 205][Question Description = S24_Hindi Content/Pedagogy_Q115]
1. 1 [Option ID = 817]
2. 2 [Option ID = 818]
3. 3 [Option ID = 819]
4. 4 [Option ID = 820]

" e (de) S wifes fEAe ¥ aeeE s S v faf - &2

(1) vt fafy

(2) TEw wifqs gfafsea
(3) fTeufquwr summ

(4) EHEARES SUFTH

[Question ID = 206][Question Description = S24_Hindi Content/Pedagogy_Q116]
1. 1 [Option ID = 821]
2. 2 [Option ID = 822]
3. 3 [Option ID = 823]
4. 4 [Option ID = 824]

12)

qTH] Rt el 1 9REY foRe T &1 T8 e =feu ?

(1) s g%
(2) HSiE UE HiEA

(3) wEETY

(4) I
[Question ID = 207][Question Description = S24_Hindi Content/Pedagogy_Q117]
1. 1 [Option ID = 825]
2. 2 [Option ID = 826]

3. 3 [Option ID = 827]
4. 4 [Option ID = 828]

13)



Tr=fafaa 5 9 forgent 3eafa 9 sl gafd 2R wmifses e § ared |amt ot yfesh & faun
fag' a4 g e?
(1) 3™ 9t stenfia fda

(2) T AT
(3) Towmasg smurfia fder
(4) TIUHTERN (HSE2rGiTEAn)

[Question ID = 208][Question Description = S24_Hindi Content/Pedagogy_Q118]
1. 1 [Option ID = 829]
2. 2 [Option ID = 830]
3. 3 [Option ID = 831]
4. 4 [Option ID = 832]

14)
ey o fafeer gerr S ol | Faer s=mv § @ fam T8 8, dfeh v YeR, SR i v
%A H ot fu= 2 €, 3% e w9 1 S S § 2

(1) e

(2) THRU TGS
(3)  sgdre

(4) fafore wscmEEl

[Question ID = 209][Question Description = S24_Hindi Content/Pedagogy_Q119]
1. 1 [Option ID = 833]
2. 2 [Option ID = 834]
3. 3 [Option ID = 835]
4. 4 [Option ID = 836]

et fafr sl o AT ST ST £7

(1) =3 wifyer fafy
(2) wel fafer
(3) WHIERIY (HeREdife)

(4) 9y fifaes gfafswan

[Question ID = 210][Question Description = S24_Hindi Content/Pedagogy_Q120]
1. 1 [Option ID = 837]
2. 2 [Option ID = 838]
3. 3 [Option ID = 839]
4. 4 [Option ID = 840]

Topic:- ENG_Q121-128_L2_P2_CTET
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Read the passage given below and answer the question that follow
1.

Our locality was predominantly Muslim, but there were quite a few Hindu families
too, living amicably with their Muslim neighbours. There was a very old mosque in
our locality where my father would take me for evening prayers. [ had not the faintest
idea of the meaning of the Arabic prayers chanted, but I was totally convinced that
they reached God.

When my father came out of the mosque after the prayers, people of different religions
would be sitting outside, waiting for him. Many of them offered bowls of water to
my father who would dip his fingertips in them and say a prayer. This water was
then carried home for invalids. I also remember people visiting our home to offer
thanks after being cured. My father always smiled and asked them to thank Allah,
the benevolent and merciful.

The high priest of Rameshwaram temple, Pandit Lakshmana Sastry, was a very close
friend of my father’s. One of the most vivid memories of my early childhood is of the
two men,each in his traditional attire,discussing spiritual matters.

When I was old enough to ask questions, I asked my father about the relevance of
prayer. My father told me there was nothing mysterious about prayer. Rather,prayer
made possible a communion of the spirit between people. “When you pray,”he said,
“you transcend your body and become a part of the cosmos,which knows no division
of wealth,age caste, or creed.” My father could convey complex spiritual concepts
in very simple, down-to-earth Tamil.

The word ‘predominantly” (para 1) means :

(1)

(
(
(

2
3
4

)
)
)

dominated by
all pervading
surrounded by
isolated

[Question ID = 241][Question Description = S24_English Content/Pedagogy_Q121]
1. 1 [Option ID = 961]
2. 2 [Option ID = 962]
3. 3 [Option ID = 963]
4. 4 [Option ID = 964]
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Read the passage given below and answer the question that follow

1;

R

Our locality was predominantly Muslim, but there were quite a few Hindu families
too, living amicably with their Muslim neighbours. There was a very old mosque in
our locality where my father would take me for evening prayers. [ had not the faintest
idea of the meaning of the Arabic prayers chanted, but I was totally convinced that
they reached God.

When my father came out of the mosque after the prayers, people of different religions
would be sitting outside, waiting for him. Many of them offered bowls of water to
my father who would dip his fingertips in them and say a prayer. This water was
then carried home for invalids. I also remember people visiting our home to offer
thanks after being cured. My father always smiled and asked them to thank Allah,
the benevolent and merciful.

The high priest of Rameshwaram temple, Pandit Lakshmana Sastry, was a very close
friend of my father’s. One of the most vivid memories of my early childhood is of the
two men,each in his traditional attire,discussing spiritual matters.

When I was old enough to ask questions, I asked my father about the relevance of
prayer. My father told me there was nothing mysterious about prayer. Rather,prayer
made possible a communion of the spirit between people. “When you pray,”he said,
“you transcend your body and become a part of the cosmos,which knows no division
of wealth,age,caste, or creed.” My father could convey complex spiritual concepts
in very simple, down-to-earth Tamil.

The word ‘amicably’ as used in (para 1) means :

(1)
(2)
(3)
(4)

sincerely
generously
wisely
harmoniously

[Question ID = 242][Question Description = S24_English Content/Pedagogy_Q122]
1. 1 [Option ID = 965]
2. 2 [Option ID = 966]
3. 3 [Option ID = 967]
4. 4 [Option ID = 968]
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Read the passage given below and answer the question that follow

%,

(%]

Our locality was predominantly Muslim, but there were quite a few Hindu families
too, living amicably with their Muslim neighbours. There was a very old mosque in
our locality where my father would take me for evening prayers. [ had not the faintest
idea of the meaning of the Arabic prayers chanted, but I was totally convinced that
they reached God.

When my father came out of the mosque after the prayers, people of different religions
would be sitting outside, waiting for him. Many of them offered bowls of water to
my father who would dip his fingertips in them and say a prayer. This water was
then carried home for invalids. T also remember people visiting our home to offer
thanks after being cured. My father always smiled and asked them to thank Allah,
the benevolent and merciful.

The high priest of Rameshwaram temple, Pandit Lakshmana Sastry, was a very close
friend of my father’s. One of the most vivid memories of my early childhood is of the
two men,each in his traditional attire,discussing spiritual matters.

When I was old enough to ask questions, I asked my father about the relevance of
prayer. My father told me there was nothing mysterious about prayer. Rather,prayer
made possible a communion of the spirit between people. “When you pray,”he said,
“you transcend your body and become a part of the cosmos,which knows no division
of wealth,age,caste, or creed.” My father could convey complex spiritual concepts
in very simple, down-to-earth Tamil.

The fact that people came with water bowls to his father for his blessings show that he

was

(2)
(3)
(4)

a spiritual leader.

a powerful man.

a religious fanatic.

deeply respected and revered.

[Question ID = 243][Question Description = S24_English Content/Pedagogy_Q123]
1. 1 [Option ID = 969]
2. 2 [Option ID = 970]
3. 3 [Option ID = 971]
4. 4 [Option ID = 972]
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Read the passage given below and answer the question that follow
=

(%]

Our locality was predominantly Muslim, but there were quite a few Hindu families
too, living amicably with their Muslim neighbours. There was a very old mosque in
our locality where my father would take me for evening prayers. [ had not the faintest
idea of the meaning of the Arabic prayers chanted, but I was totally convinced that
they reached God.

When my father came out of the mosque after the prayers, people of different religions
would be sitting outside, waiting for him. Many of them offered bowls of water to
my father who would dip his fingertips in them and say a prayer. This water was
then carried home for invalids. T also remember people visiting our home to offer
thanks after being cured. My father always smiled and asked them to thank Allah,
the benevolent and merciful.

The high priest of Rameshwaram temple, Pandit Lakshmana Sastry, was a very close
friend of my father’s. One of the most vivid memories of my early childhood is of the
two men,each in his traditional attire,discussing spiritual matters.

When I was old enough to ask questions, I asked my father about the relevance of
prayer. My father told me there was nothing mysterious about prayer. Rather,prayer
made possible a communion of the spirit between people. “When you pray,”he said,
“you transcend your body and become a part of the cosmos,which knows no division
of wealth,age,caste, or creed.” My father could convey complex spiritual concepts
in very simple, down-to-earth Tamil.

Writer’s father was a secular man as :

(
(
(
(

1)

2)
3)
4)

he was the neighbor of a Hindu priest.

he was approached by people of all religions for prayers for those sick and suffering.
he was a pious Muslim and never forgot his prayers.

he would always talk about spirituality.

[Question ID = 244][Question Description = S24_English Content/Pedagogy_Q124]
1. 1 [Option ID = 973]
2. 2 [Option ID = 974]
3. 3 [Option ID = 975]
4. 4 [Option ID = 976]
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Read the passage given below and answer the question that follow

1. Our locality was predominantly Muslim, but there were quite a few Hindu families
too, living amicably with their Muslim neighbours. There was a very old mosque in
our locality where my father would take me for evening prayers. [ had not the faintest
idea of the meaning of the Arabic prayers chanted, but I was totally convinced that
they reached God.

2. When my father came out of the mosque after the prayers, people of different religions
would be sitting outside, waiting for him. Many of them offered bowls of water to
my father who would dip his fingertips in them and say a prayer. This water was
then carried home for invalids. I also remember people visiting our home to offer
thanks after being cured. My father always smiled and asked them to thank Allah,
the benevolent and merciful

3. The high priest of Rameshwaram temple,Pandit Lakshmana Sastry, was a very close
friend of my father’s. One of the most vivid memories of my early childhood is of the
two men,each in his traditional attire,discussing spiritual matters.

4. When I was old enough to ask questions, I asked my father about the relevance of
prayer. My father told me there was nothing mysterious about prayer. Rather,prayer
made possible a communion of the spirit between people. “When you pray,”he said,
“you transcend your body and become a part of the cosmos,which knows no division
of wealth,age,caste, or creed.” My father could convey complex spiritual concepts
in very simple, down-to-earth Tamil.

According to father,prayers helped one to :

(1) get whatever one desired

(2) connect with other people around oneself
(3) achieve greatness

(4) become successful and wealthy

[Question ID = 245][Question Description = S24_English Content/Pedagogy_Q125]
1. 1 [Option ID = 977]
2. 2 [Option ID = 978]
3. 3 [Option ID = 979]
4. 4 [Option ID = 980]
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Read the passage given below and answer the question that follow
=

(%]

Our locality was predominantly Muslim, but there were quite a few Hindu families
too, living amicably with their Muslim neighbours. There was a very old mosque in
our locality where my father would take me for evening prayers. [ had not the faintest
idea of the meaning of the Arabic prayers chanted, but I was totally convinced that
they reached God.

When my father came out of the mosque after the prayers, people of different religions
would be sitting outside, waiting for him. Many of them offered bowls of water to
my father who would dip his fingertips in them and say a prayer. This water was
then carried home for invalids. T also remember people visiting our home to offer
thanks after being cured. My father always smiled and asked them to thank Allah,
the benevolent and merciful.

The high priest of Rameshwaram temple, Pandit Lakshmana Sastry, was a very close
friend of my father’s. One of the most vivid memories of my early childhood is of the
two men,each in his traditional attire,discussing spiritual matters.

When I was old enough to ask questions, I asked my father about the relevance of
prayer. My father told me there was nothing mysterious about prayer. Rather,prayer
made possible a communion of the spirit between people. “When you pray,”he said,
“you transcend your body and become a part of the cosmos,which knows no division
of wealth,age,caste, or creed.” My father could convey complex spiritual concepts
in very simple, down-to-earth Tamil.

The word ‘transcend’ (para 4) means :

(
(
(
(

1)

2)
3)
4)

to go beyond
to rise

to move away
to pass by

[Question ID = 246][Question Description = S24_English Content/Pedagogy_Q126]
1. 1 [Option ID = 981]
2. 2 [Option ID = 982]
3. 3 [Option ID = 983]
4. 4 [Option ID = 984]
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Read the passage given below and answer the question that follow
=

(%]

Our locality was predominantly Muslim, but there were quite a few Hindu families
too, living amicably with their Muslim neighbours. There was a very old mosque in
our locality where my father would take me for evening prayers. [ had not the faintest
idea of the meaning of the Arabic prayers chanted, but I was totally convinced that
they reached God.

When my father came out of the mosque after the prayers, people of different religions
would be sitting outside, waiting for him. Many of them offered bowls of water to
my father who would dip his fingertips in them and say a prayer. This water was
then carried home for invalids. T also remember people visiting our home to offer
thanks after being cured. My father always smiled and asked them to thank Allah,
the benevolent and merciful.

The high priest of Rameshwaram temple, Pandit Lakshmana Sastry, was a very close
friend of my father’s. One of the most vivid memories of my early childhood is of the
two men,each in his traditional attire,discussing spiritual matters.

When I was old enough to ask questions, I asked my father about the relevance of
prayer. My father told me there was nothing mysterious about prayer. Rather,prayer
made possible a communion of the spirit between people. “When you pray,”he said,
“you transcend your body and become a part of the cosmos,which knows no division
of wealth,age,caste, or creed.” My father could convey complex spiritual concepts
in very simple, down-to-earth Tamil.

According to writer’s father prayers were a way of promoting :

(
(
(
(

1)

2)
3)
4)

social norms

harmony and equality
barriers and class distinction
religious disharmony

[Question ID = 247][Question Description = S24_English Content/Pedagogy_Q127]
1. 1 [Option ID = 985]
2. 2 [Option ID = 986]
3. 3 [Option ID = 987]
4. 4 [Option ID = 988]
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Read the passage given below and answer the question that follow

= 18

(%]

Our locality was predominantly Muslim, but there were quite a few Hindu families
too, living amicably with their Muslim neighbours. There was a very old mosque in
our locality where my father would take me for evening prayers. I had not the faintest
idea of the meaning of the Arabic prayers chanted, but I was totally convinced that
they reached God.

When my father came out of the mosque after the prayers, people of different religions
would be sitting outside, waiting for him. Many of them offered bowls of water to
my father who would dip his fingertips in them and say a prayer. This water was
then carried home for invalids. I also remember people visiting our home to offer
thanks after being cured. My father always smiled and asked them to thank Allah,
the benevolent and merciful.

The high priest of Rameshwaram temple, Pandit Lakshmana Sastry, was a very close
friend of my father’s. One of the most vivid memories of my early childhood is of the
two men,each in his traditional attire,discussing spiritual matters.

When I was old enough to ask questions, I asked my father about the relevance of
prayer. My father told me there was nothing mysterious about prayer. Rather,prayer
made possible a communion of the spirit between people. “When you pray,”he said,
“you transcend your body and become a part of the cosmos, which knows no division
of wealth,age caste, or creed.” My father could convey complex spiritual concepts
in very simple, down-to-earth Tamil.

Which part of the following sentence contains an error ?

Kalam's father tellhim  about the power of prayer
(A) (B) © (D)
1) option (A)

155)

(1)
(2)
(3)

(4)

(
option (B)
option (C)
option (D)

[Question ID = 248][Question Description = S24_English Content/Pedagogy_Q128]
1. 1 [Option ID = 989]
2. 2 [Option ID = 990]
3. 3 [Option ID = 991]
4. 4 [Option ID = 992]

Topic:- ENG_Q129-135_L2_P2_CTET
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Read the passage given below and answer the question that follow :

1.

After handing the first batch of thank you notes to my neighbours, I spent a few
days trying to remember times when other neighbours had done something nice for
me. And funnily enough, I started noticing different acts of kindness that were
happening in real time. There was the driver who had waited for me as I bolted
down the street to catch his shuttle bus. There was the cashier at a supermarket
who chased me with a bag of groceries I'd left behind.

On the day I delivered my thank you note to this cashier at the supermarket, my
mother-in-law,Louise,dropped off a week’s worth of food. At first I thought, Louise
is not technically a neighbor, but if I was going to thank grocer Pete for three minutes
of his time, I needed to acknowledge Louise for hours of hers.

Similarly in the ensuing months, I wrote notes to friends, doctors, career mentors,
and parenting role models, [ also dashed off missives to my husband, Jake, as well as
my siblings, in-laws and parents. And I found that doing so changed the fundamental
dynamics of these relationships in small but impactful ways. I was smoothing out
any prickly bumps and adding a new shine to it. It is a pcwerfu] thing, I learnt, to
fully appreciate and feel fully appreciated by the people closest to me.

The change that came over the writer while writing the thank you notes was that she
started : '

(1)
(2)
(3)
(4)

getting new ideas
becoming more aware of the kind behaviour of people
becoming a kinder person

learning new ways of communicating with people

[Question ID = 250][Question Description = S24_English Content/Pedagogy_Q129]
1. 1 [Option ID = 997]

2. 2 [Option ID = 998]

3. 3 [Option ID = 999]

4. 4 [Option ID = 1000]
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Read the passage given below and answer the question that follow :
1.

After handing the first batch of thank you notes to my neighbours, I spent a few
days trying to remember times when other neighbours had done something nice for
me. And funnily enough, I started noticing different acts of kindness that were
happening in real time. There was the driver who had waited for me as I bolted

down the street to catch his shuttle bus. There was the cashier at a supermarket
who chased me with a bag of groceries I'd left behind.

On the day I delivered my thank you note to this cashier at the supermarket, my
mother-in-law, Louise,dropped off a week’s worth of food. At first I thought, Louise
is not technically a neighbor, but if I was going to thank grocer Pete for three minutes
of his time, I needed to acknowledge Louise for hours of hers.

Similarly in the ensuing months, I wrote notes to friends, doctors, career mentors,
and parenting role models, I also dashed off missives to my husband, Jake, as well as
my siblings, in-laws and parents. And I found that doing so changed the fundamental
dynamics of these relationships in small but impactful ways. I was smoothing out
any prickly bumps and adding a new shine to it. It is a powerful thing, I learnt, to
fully appreciate and feel fully appreciated by the people closest to me.

She appreciated the bus driver for waiting for her to
(1)

(
(
(

2
3
4

)
)
)

cross the road
climb onto the bus
drive past

buy her groceries

[Question ID = 251][Question Description = S24_English Content/Pedagogy_Q130]
1. 1 [Option ID = 1001]
2. 2 [Option ID = 1002]
3. 3 [Option ID = 1003]
4. 4 [Option ID = 1004]
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Read the passage given below and answer the question that follow :
1.

After handing the first batch of thank you notes to my neighbours, I spent a few
days trying to remember times when other neighbours had done something nice for
me. And funnily enough, I started noticing different acts of kindness that were
happening in real time. There was the driver who had waited for me as I bolted

down the street to catch his shuttle bus. There was the cashier at a supermarket
who chased me with a bag of groceries I'd left behind.

On the day I delivered my thank you note to this cashier at the supermarket, my
mother-in-law, Louise,dropped off a week’s worth of food. At first I thought, Louise
is not technically a neighbor, but if I was going to thank grocer Pete for three minutes
of his time, I needed to acknowledge Louise for hours of hers.

Similarly in the ensuing months, I wrote notes to friends, doctors, career mentors,
and parenting role models, I also dashed off missives to my husband, Jake, as well as
my siblings, in-laws and parents. And I found that doing so changed the fundamental
dynamics of these relationships in small but impactful ways. I was smoothing out
any prickly bumps and adding a new shine to it. It is a powerful thing, I learnt, to
fully appreciate and feel fully appreciated by the people closest to me.

The cashier at the supermarket ran after her because she had :

(1)

(
(
(

2
3
4

)
)
)

not paid him.

not taken the change.

lifted some objects from his shop.
forgotten to pick up her bag of groceries.

[Question ID = 252][Question Description = S24_English Content/Pedagogy_Q131]
1. 1 [Option ID = 1005]
2. 2 [Option ID = 1006]
3. 3 [Option ID = 1007]
4. 4 [Option ID = 1008]
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Read the passage given below and answer the question that follow :

= 18

After handing the first batch of thank you notes to my neighbours, I spent a few
days trying to remember times when other neighbours had done something nice for
me. And funnily enough, I started noticing different acts of kindness that were
happening in real time. There was the driver who had waited for me as I bolted
down the street to catch his shuttle bus. There was the cashier at a supermarket
who chased me with a bag of groceries I'd left behind.

On the day I delivered my thank you note to this cashier at the supermarket, my
mother-in-law,Louise,dropped off a week’s worth of food. At first I thought, Louise
is not technically a neighbor, but if I was going to thank grocer Pete for three minutes
of his time, I needed to acknowledge Louise for hours of hers.

Similarly in the ensuing months, I wrote notes to friends, doctors, career mentors,
and parenting role models, I also dashed off missives to my husband, Jake, as well as
my siblings, in-laws and parents. And I found that doing so changed the fundamental
dynamics of these relationships in small but impactful ways. I was smoothing out
any prickly bumps and adding a new shine to it. It is a powerful thing, I learnt, to
fully appreciate and feel fully appreciated by the people closest to me.

Pete was :

(1)

the bus driver
the grocer

a neighbour
a friend

[Question ID = 253][Question Description = S24_English Content/Pedagogy_Q132]
1. 1 [Option ID = 1009]
2. 2 [Option ID = 1010]
3. 3 [Option ID = 1011]
4. 4 [Option ID = 1012]
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Read the passage given below and answer the question that follow :

= 18

After handing the first batch of thank you notes to my neighbours, I spent a few
days trying to remember times when other neighbours had done something nice for
me. And funnily enough, I started noticing different acts of kindness that were
happening in real time. There was the driver who had waited for me as I bolted
down the street to catch his shuttle bus. There was the cashier at a supermarket
who chased me with a bag of groceries I'd left behind.

On the day I delivered my thank you note to this cashier at the supermarket, my
mother-in-law,Louise,dropped off a week’s worth of food. At first I thought, Louise
is not technically a neighbor, but if I was going to thank grocer Pete for three minutes
of his time, I needed to acknowledge Louise for hours of hers.

Similarly in the ensuing months, I wrote notes to friends, doctors, career mentors,
and parenting role models, I also dashed off missives to my husband, Jake, as well as
my siblings, in-laws and parents. And I found that doing so changed the fundamental
dynamics of these relationships in small but impactful ways. I was smoothing out
any prickly bumps and adding a new shine to it. It is a powerful thing, I learnt, to
fully appreciate and feel fully appreciated by the people closest to me.

I need to acknowledge Louise for "hours of hers’, This refers to the hours :

(1)
(2)
(3)

Spent by Louise to travel to the writer’s house.
Louise had spent planning the menu for her.
Louise had spent cooking the dishes for her.
Louise had spent thinking of her.

[Question ID = 254][Question Description = S24_English Content/Pedagogy_Q133]
1. 1 [Option ID = 1013]
2. 2 [Option ID = 1014]
3. 3 [Option ID = 1015]
4. 4 [Option ID = 1016]
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Read the passage given below and answer the question that follow :

= 18

After handing the first batch of thank you notes to my neighbours, I spent a few
days trying to remember times when other neighbours had done something nice for
me. And funnily enough, I started noticing different acts of kindness that were
happening in real time. There was the driver who had waited for me as I bolted
down the street to catch his shuttle bus. There was the cashier at a supermarket
who chased me with a bag of groceries I'd left behind.

On the day I delivered my thank you note to this cashier at the supermarket, my
mother-in-law,Louise,dropped off a week’s worth of food. At first I thought, Louise
is not technically a neighbor, but if I was going to thank grocer Pete for three minutes
of his time, I needed to acknowledge Louise for hours of hers.

Similarly in the ensuing months, I wrote notes to friends, doctors, career mentors,
and parenting role models, I also dashed off missives to my husband, Jake, as well as
my siblings, in-laws and parents. And I found that doing so changed the fundamental
dynamics of these relationships in small but impactful ways. I was smoothing out
any prickly bumps and adding a new shine to it. It is a powerful thing, I learnt, to
fully appreciate and feel fully appreciated by the people closest to me.

Writing notes to family and friends changed a lot of things for the writer by :

(1)
(2)
(3)

making the bonds stronger.

making her appreciate others and be appreciated by them.
making her love everyone around her.

making her compassionate.

[Question ID = 255][Question Description = S24_English Content/Pedagogy_Q134]
1. 1 [Option ID = 1017]
2. 2 [Option ID = 1018]
3. 3 [Option ID = 1019]
4. 4 [Option ID = 1020]

7)



Read the passage given below and answer the question that follow :

1.  After handing the first batch of thank you notes to my neighbours, I spent a few
days trying to remember times when other neighbours had done something nice for
me. And funnily enough, I started noticing different acts of kindness that were
happening in real time. There was the driver who had waited for me as I bolted
down the street to catch his shuttle bus. There was the cashier at a supermarket
who chased me with a bag of groceries I'd left behind.

2. On the day I delivered my thank you note to this cashier at the supermarket, my
mother-in-law,Louise,dropped off a week’s worth of food. At first I thought, Louise
is not technically a neighbor, but if I was going to thank grocer Pete for three minutes
of his time, I needed to acknowledge Louise for hours of hers.

3. Similarly in the ensuing months, I wrote notes to friends, doctors, career mentors,
and parenting role models, I also dashed off missives to my husband, Jake, as well as
my siblings, in-laws and parents. And I found that doing so changed the fundamental
dynamics of these relationships in small but impactful ways. I was smoothing out
any prickly bumps and adding a new shine to it. It is a powerful thing, I learnt, to
fully appreciate and feel fully appreciated by the people closest to me.

The driver waited while I bolted down the street. The underlined word in this sentence is
an example of :

(1) preposition

(2) pronoun

(3) conjuction

(4) wverb

[Question ID = 256][Question Description = S24_English Content/Pedagogy_Q135]
1. 1 [Option ID = 1021]
2. 2 [Option ID = 1022]
3. 3 [Option ID = 1023]
4. 4 [Option ID = 1024]

Topic:- ENG_Q136-150_L2_P2_CTET

) is based on the way children learn languages.

(1) Grammar Translation
(2) Communicative Language teaching
(3) Structural approach

(4) Role playing method

[Question ID = 257][Question Description = S24_English Content/Pedagogy_Q136]
1. 1 [Option ID = 1025]
2. 2 [Option ID = 1026]
3. 3 [Option ID = 1027]
4. 4 [Option ID = 1028]

2 : : : e
) is an important early reading skill in all students.

(1) Phonological awareness
(2) Morphological awareness
(3) Graphological awareness
(4) Grammar awareness



[Question ID = 258][Question Description = S24_English Content/Pedagogy_Q137]
1. 1 [Option ID = 1029]
2. 2 [Option ID = 1030]
3. 3 [Option ID = 1031]
4. 4 [Option ID = 1032]

3)
Before beginning a language lesson Nidhi discusses the meanings and contexts of the
new words that the students would encounter in the text. What is Nidhi doing ?
(1) She is creating a scaffold so that her students understand the lesson better.
(2) She is creating fear in students so that they understand the seriousness of the topic
for exams.
(3) She is creating a sense of ease so that students know this is not an important aspect.

(4) Sheis creating a belief so that students feel that only word meanings are important
in the lesson.
[Question ID = 259][Question Description = S24_English Content/Pedagogy_Q138]
1. 1 [Option ID = 1033]
2. 2 [Option ID = 1034]

3. 3 [Option ID = 1035]
4. 4 [Option ID = 1036]

4)
Parvati is calculating the discrimination level of the test questions. In one of her questions
she notices the discrimination level has a value of 18%. What should Parvati do to the
item ?
(1)  The item should be kept in the test
( The item should be discarded from the test

2)
(3) The item is moderately discriminating for the test
(4)

[Question ID = 260][Question Description = S24_English Content/Pedagogy_Q139]
1. 1 [Option ID = 1037]
2. 2 [Option ID = 1038]
3. 3 [Option ID = 1039]
4. 4 [Option ID = 1040]

The item is a bad question for the test

5)
refers to theories about the nature of language and language learning that
serves as a source of practice.
(1) Approach

(2)  Method
(3) Instruction
(4) Technique

[Question ID = 261][Question Description = S24_English Content/Pedagogy_Q140]
1. 1 [Option ID = 1041]
2. 2 [Option ID = 1042]
3. 3 [Option ID = 1043]
4. 4 [Option ID = 1044]



® In the Direct method, teachers are :

(1
(

(
(4

allowed to use some elements of the native language

LI

)
) not allowed to use any native language at all
) allowed to explain using native language

)

not allowed to give grammar exercises

[Question ID = 262][Question Description = S24_English Content/Pedagogy_Q141]
1. 1 [Option ID = 1045]
2. 2 [Option ID = 1046]
3. 3 [Option ID = 1047]
4. 4 [Option ID = 1048]

7)
During the WWII, method was used by the American soldiers to train their
soldiers in foreign languages.
(1) Communicative
(2)  Audio - lingual
(3) Structural
(4) Direct
[Question ID = 263][Question Description = S24_English Content/Pedagogy_Q142]
1. 1 [Option ID = 1049]
2. 2 [Option ID = 1050]

3. 3 [Option ID = 1051]
4. 4 [Option ID = 1052]

8 G v Y
" In a communicative language classroom emphasis is laid on :
(1

(
(4

Creaﬁvi’ty and Fluency

Ud NI

Creativity and Comprehensibility

)
)  Fluency and Comprehensibility
)
) Fluency and Intonation

[Question ID = 264][Question Description = S24_English Content/Pedagogy_Q143]
1. 1 [Option ID = 1053]
2. 2 [Option ID = 1054]
3. 3 [Option ID = 1055]
4. 4 [Option ID = 1056]

9 Emergent literacy deals with :

(1)  Reading and Writing in the early years of a student
(2) Reading and Writing in the middle school
(3) Reading and Writing in Senior School
(4) Reading and Writing in College
[Question ID = 265][Question Description = S24_English Content/Pedagogy_Q144]
1. 1 [Option ID = 1057]
2. 2 [Option ID = 1058]

3. 3 [Option ID = 1059]
4. 4 [Option ID = 1060]

10)



In a classroom, a teacher is providing the students a text and asks them to make predictions
on the basis of pictures, headings and quotes of the text, then read the text to check those
predictions, then she instructs them to raise questions if they have any doubt and after
that clarifies those questions. In the end, the teacher allows them to summarize whatever
they have understood. Hence the teacher is applying

(1) Intensive Teaching

(2) Extensive Teaching
(3) Reciprocal Teaching
(4) Oriented Teaching

[Question ID = 266][Question Description = S24_English Content/Pedagogy_Q145]
1. 1 [Option ID = 1061]
2. 2 [Option ID = 1062]
3. 3 [Option ID = 1063]
4. 4 [Option ID = 1064]

" In “Text Based Instruction’ text refers to

(1)  printed material in extended form

(2) specifically written documents
(3) structured sequences of language used in specific contexts
(4) conversation in specific contexts

[Question ID = 267][Question Description = S24_English Content/Pedagogy_Q146]

1. 1 [Option ID = 1065]

2. 2 [Option ID = 1066]

3. 3 [Option ID = 1067]
4. 4 [Option ID = 1068]

12)

In a language classroom, the teacher is distributing some pictures to the students and
asking them to describe the pictures in pair, Here, the whole scenario gives the impression
of

Skinner’s theory

(1)

(2) Chomsky’'s theory
(3) Krashen's theory

(4) Ashubell’s theory

[Question ID = 268][Question Description = S24_English Content/Pedagogy_Q147]
1. 1 [Option ID = 1069]
2. 2 [Option ID = 1070]
3. 3 [Option ID = 1071]
4. 4 [Option ID = 1072]

e Culturally Responsive Teacher should NOT focus on :

(1) collaborative learning.

(2) active engagement of learners.
(3) providing instruction as per students learning style
(4) developing a sense of individualism.

[Question ID = 269][Question Description = S24_English Content/Pedagogy_Q148]
1. 1 [Option ID = 1073]
2. 2 [Option ID = 1074]
3. 3 [Option ID = 1075]



4. 4 [Option ID = 1076]

14)

Consider the statements about Cooperative language learning groups as described by
Johnson et al (1994) :

(A)

(B)

b =

S T e mam

3
+

T e

Informal cooperative language learning groups are established for a specific task
and these groups last from one class period to several weeks

Formal groups last for few minutes to a class period and which aim to facilitate
learning during direct teaching

(A) is true but (B) is false.

(A) is false but (B) is true.

(A) & (B) both are true.

(A) & (B) both are false.

[Question ID = 270][Question Description = S24_English Content/Pedagogy_Q149]
1. 1 [Option ID = 1077]
2. 2 [Option ID = 1078]
3. 3 [Option ID = 1079]
4. 4 [Option ID = 1080]

15)

Read the following statements about derivational morphemes and choose the correct

option :

(A) Normalize and courageous are derivational morphemes.

(R) Derivational morphemes are used to show some aspects of the grammatical function
of a word.

(1) (A) is wrong but (R) is right.

(2) (A) is right but (R) is wrong.

(3) (A) and (R) both are right and (R) is the explanation of (A).

(4) (A) and (R) both are wrong,

[Question ID = 271][Question Description = S24_English Content/Pedagogy_Q150]
1. 1 [Option ID = 1081]
2. 2 [Option ID = 1082]
3. 3 [Option ID = 1083]
4. 4[Option ID = 1084]






